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7 4 JboE 7B\ S ] 2.90
B Jb 7BA S 2.90
B JbD 7BA F 5. 70
H ) JbD 7B\ wE 1.90
i Jb 7B\ MR 2.80
7 4 JeoE 7B\ M 6. 80
B Je 7BA ZEA 1.00
B Jb 7B\ MIE R 6. 10
) JbD 7B\ 2135 2. 90
)4 bR 7BA MR 3. 80
7 4 JboE 7B\ R 6. 50
B Jb 7BA S 2.90
B JbD 7B\ WiEA 3.20
k! Jb 7BA MR 3.70
4 plaetEs 7Bk TR F5H 0.50




#h ) LD 7B\ PRI 3. 20
Hm 4 JEo R 7BA AR 5.10
Hom 4 JEo R 7BA R3S 1.00
gk JEo R 7B\ MR 3.80
R JbD 7B R 2.90
#h ) LD 7B\ FRE 6. 10
w4 LR TRA WEEZ 6. 00
) LD 7B\ MRIETFE 4. 80
B JEo R TBA T =iz 1. 50
w4 LG TBA KR E 3.20
#h ) LD 7BA PRI 2.90
Hm 4 JEo R 7BA USRS 5.70
w4 Jbo R 7BA MIEAT 4. 00
Hom LD 7BA TR 1. 40
Hom) 4 LG TBA MREERE 5. 20
HE JEo R 7BA R 5. 00
B LD 7B\ R 3. 00
Hm 4 JEo R 7BA ETH 4. 80
Hom 4 LD TBA KAk 1. 00
w4 LG TBA K2 1.50
ik b S 7B\ TR L 2.90
S LD 7B\ B 3. 80
7 4 LD 7B\ eSS 2. 30
Hom 4 Lo 7BA MR 3. 80
# ) Jbo R 7BA MIE R 5. 80
Hm JEo R 7BA EER 3. 80
Hm 4 JEo R 7BA LARAE 2.90
Hm 4 JEo R 7BA MALE 3. 80
gk JEo R 7B Mlges 3. 80
#h ) LI 7B ESUNG 2.90
#h ) LD 8BA RIS 6. 30
Hm 4 JEo R 8FA HR R 5. 40
w4 JEo A 8FA EEE 5. 30
gk JbD 8BA 152457 7.90
Hom) 4 LG 8FA D% 1.70
Hm JEo R 8FA B2ER 4. 80
Hm 4 JEo R 8FA B 2.70
7 4 LD 8BA L prian 6. 50
Hom Lo 8BA TR 7.60
#h ) Jbo R 8BA FFEo 6. 70
w4 JEo R 8FA KA 5. 60
Hm 4 JEo R 8BA S 9E 4,00
7 4 LD 8BA EE 5. 40
ik b5 E 8FA FEZ 3. 80
# ) LI 8BA BHEN 2.90
#h ) LD 8BA A 6. 20
Hm 4 JEo R 8BA T 5. 00
w4 Jbo R 8FA XIRZE 2. 40
Hom Lo 8FA RS 1. 60
#h ) L3 8BA X Bt 10. 03
#h ) LD 8BA EyN 5. 00
Hm 4 JEo R 8BA HRK 2 10. 00
7 4 LD 8BA T 5. 40
Hom 4 LG 8BA KUK 5. 40
w4 LG 8FA ZERAE 7.70
#h ) LD 8BA s 3.50
Hm 4 JEo R 8FA AR 10. 00
w4 Jbo R 8FA TR 9. 50
B B[ =55 8IA TR 8. 40
# ) Jbo R 8BA MIEE 5. 90




Hm JEo R 8FA [P 6. 54
Hm 4 JEo R 8BA 2= 2.90
Hom 4 JEo R 8FA Lg% 4. 80
Hom Lo 8BA XU R Z 1. 00
Hom) 4 LG 8FA = EH B 4.10
#h ) JEo R 8BA B 1.50
w4 JEo R 8BA 55 3.10
A B 1BA EHE 5. 40
B FHE N A 1.10
w4 W 1B\ HAHR 4,00
A BT 1BA 5 E 4. 20
A BT 1BA EHEE 4. 00
A B 1BA eSO 1.30
Hom i N BEn 0.90
B FHE 1B\ HPE 5. 40
gk B 1B\ s 4,00
Hm 4 E 1B\ A 5. 40
Hm 4 I N mER 1.30
Hom 4 B N TN 6. 80
B B 1B\ i 6. 80
B B N AR 5. 40
Hm 4 W 1B\ HHE 6. 80
Hm 4 I N R 4. 00
B FHE 1B\ AR 3. 90
w4 W 1B\ H R 3.85
B B 1B\ HRE 7. 50
Hm 4 B 1B\ EHAX 6. 80
A B 1BA 5 DR 4.00
Hom 4 i N PRk 5. 80
#h ) B 1B\ EIA 2.70
Hm W N Mg 4,00
ks BT 1BA Ve 6. 80
w4 I N p=kic 4. 30
gk i 1B\ % i 6. 80
A BT 1BA T E 1. 30
A BT 1BA PiEr 4. 00
A BT 1BA LUl 2.70
ik I N p=k= 6. 80
gk FHE 1B\ A 6. 80
Hom) 4 W 1B\ AT 4. 30
ik BT 1BA E=A 6. 80
Hm 4 E 1B\ WHE 5.70
Hm) 4 I N X% 13. 50
Hom 4 B 1B\ mER 2.70
B FHE 1B\ mE 5.82
B B 1B\ FEE 7. 50
Hm 4 W 1B\ PAUN 3.90
w4 I N X 3. 00
Hom E 1B\ AR 8.91
Hom) 4 W 1B\ mE 6. 80
ik BT 1BA i [HE 2.10
ks BT 1BA T ARHE 2.75
A B 1BA e 5. 40
Hom 4 E 1B\ WYE 6. 80
w4 W 1B\ me 9.50
ik BT 1BA 10t 5.90
B I 1B\ EEE 2.70
w4 I N p=h 5. 40
Hom B N I EHE 4,00
w4 W 1B\ I 5. 40




#h ) FHE 1BA #HEHR 7.10
o 4 H 1BA BT 6. 80
) 4 HHE 1BA 5 PR 7.10
k! B 1B\ BFHET 5. 40
) 4 B N HHAE 8. 10
#h ) FHE 1BA HRR 5. 40
R4 B 1BA BEF 3.40
Gk i 1BA PR 4. 68
k! I N Bl i 1.00
# ) H 1BA BE 0. 80
#h ) FHE 1B\ EHE 5. 00
B B 1BA AFHHE 2.70
B HHE 1BA IR 4. 50
k! I N FHF5F 6. 80
4 B 1B\ AR 4.80
#h ) FHE 1BA ECiikis 4.00
R4 B 1BA FHK 3. 60
4 HHE 1BA 5 PR 4. 00
B E 4 B 1BA e 6.75
# ) H 1BA TR 3.31
Ho ) FHE 1BA # ok 10. 34
B B 1BA B33 3. 80
B HHE 1BA S Vs 12. 00
) R 1BA g2 6. 80
# ) H 1BA HECR 3.00
#h ) FHE 2B\ oK 1.50
B B 2B RE= 0. 80
# ) B 2B\ 1 B A 3.00
k! I 2B\ BT 1.80
)4 B 2BA B4R 1.10
#h ) FHE 2B\ HaA 1.10
B B 2B\ B iS4 1.30
B HHE 2B\ AT T 2.70
k! B 2BA JEF5 4.30
4 B 2BA =) 0. 80
) B B 2B\ BB 1.00
B B 2B\ B 3. 50
B HHEE 2B\ 5% T 0. 30
k! I 2B\ e 0. 50
R E 4 B 2B\ IR 4.00
#h ) FHE 2B\ I Eh 4 2.30
#o ) H 2B\ ZEH 1.50
Gk i 2B\ B 1. 00
k! I 2B\ 2RI 3. 30
) 4 B 2BA BRR 1.80
R4 R 3BA S 1.00
B B 3BA & 5 3. 50
Gk i 3BA HIRE 5. 50
k! B 3BA R 1.30
R E 4 B 3BA Jop A 16. 00
) B B 3BA JE % 1.20
B B 3BA HRR 8. 70
B HHE 3BA T PR 1.00
k! I 3BA Bk 4.20
)4 B 3BA Vv 49. 10
#h ) FHE 3BA B 0. 30
B B 3BA A 3. 00
B HHE 3BA B 3. 50
H ) R 3Bk I 1.00
) 4 B 3BA B4R 8. 00




B B 3BA R 14. 50
Hm 4 W 3BA BHA 4,20
Hom 4 I 3BA HEE 3. 00
ik BT 3B\ =L 6. 50
o E)HH BIEE 3BA kIR 5.50
B B 3BA Eeia 4,20
w4 B 3BA = 4. 40
A B 3BA nEx 1. 00
R E BT 3B\ LN RS 1. 50
w4 W 3BA TH5H 2.70
HE W 3BA X FEZR 3. 00
Hm 4 W 3BA 215 105. 00
w4 HOUE | FUE | st 2.20
B BIE | BUE | AKE 6. 06
A YOUE | FUIE | RER 2.55
gk g | #aE | HKE 8.33
Hm 4 P | #UE | RiEE 8. 84
Hm 4 HUE | HUIE | B 1.30
Hom 4 | BR[| EEil 1. 40
w4 x| #aE | Tk 4,98
B HOE | BUIE | Pk 8.33
Hm 4 PO | FUE | s 4,55
) UE | HUE | B 6. 90
ik #E | BUE | Ak 3.37
# ) HE | HUIE | PR 3. 60
B E | HUE | RS 1.71
ks HUE | HUE | KEs 3.03
Hm 4 PR | HUE | EEE 1.10
ik BOUE | BUE | FEER¥E 4. 40
Hom) 4 YE | BUE | kEE 4,76
Hm PR | FUIE | kR 7.72
Hm 4 HOUE | U | R 2.10
) UE | #UE | BKor 4.63
) HUE | HOUE | wke 0.45
#h ) P01k | g | sieR 3.33
Hm YE | BUE | A 4,33
B E | FUE | EtE 4,69
ik PE | #aE | TRE 2.22
Hom 2k | BUE | AEE 2.57
#h ) 1E | Z1E | sk 3. 46
B HE | FUE | s 4,58
ks POUE | FUE | A 5.91
) HUE | HUE | AKRI 4.63
Hom 4 | #UE | BRA 4. 40
A wiE | #UE | AL 6.92
Hm OUE | HUE | AKX 6. 90
Hm 4 HOE | HE | BB 3.38
w4 HOUE | HUE | AR 7.98
ik HOUE | BUE | AhEN 3.33
B oE | #aE | KA 5.15
ik IE | BUVE | M 2.07
ks HOUE | HUE | AKS 4.68
) UE | HUE | B 8.51
Hom 4 2 | BUE | Ak 4,01
B Y | #BUUE | FEER 0.85
#h ) 1k | HE | BE) 7.19
Al PR | BUE | ERCE 4.77
w4 OUE | HUIE | R 4.25
ik k| #UE | AEA 2.20
# ) 21E | #E | AR 4.79




B | HUE | EER 2. 20
B | FUE | IMRT 3.30
) BUE | HUE | R 4.76
Hom 2 | #UE | BARE 2.93
Hom) 4 YoE | #E | Fiew 3.55
B g | #aE | HKE 5.72
w4 YE | BUIE | S 4,53
Hm) 4 HOUE | FUE | R 4. 66
R E g | BUE | AR 7.19
w4 x| #aE | HkE 6. 00
HE YOUE | HUIE | K 8. 58
B PO | FUE | MR 7.66
w4 PR | AR | AR 5. 08
Hom BOUE | BUE | AW 12.93
A OUE | FUE | FAMs 4.53
gk P | FUE | MK 6.43
ks UE | #HE | aMEE 3.11
Hm 4 IR | HUE | R 3. 50
Hom 4 g | BUE | A 3.33
ik OUE | FU1E | KK 5. 67
B P | #UE | TRE 4,20
B o1k | HE | R 2.56
) UE | HUUE | FER 4.30
Hom 4 BOUE | BUIE | Tk 3.20
# ) 21E | #E | FESk 4.68
#h ) $UE | HUUE | AEE 4. 46
B BUE | #UIE | ZHEEx 2. 50
) HOUE | #HUE | xR 0. 90
Hom 4 k| 2R | AKR 8.37
B HE | HVFE | W 5.97
He 4 UE | HUIE | BB 5. 14
Hm 4 PO | FUE | EREEE 4. 65
) 1 | HE | e 10. 42
R E) 2 | BUE | TR 2.12
#h ) 21E | #E | R 5.95
#h ) BUE | UIE | =FH% 0.92
Hm 4 PO | FUE | R 9. 20
ik POUE | AR | B 5.01
Hom BUE | BUTE | AR 5.71
B Ha1E | HUIE | #hEA 6. 86
w4 HE | #UE | mEe 6. 08
Hm 4 k| #aE | JEEA 8.01
A HOUE | FUE | THE 4. 50
Hom 4 BUE | BUTE | A 1.28
# ) 21E | #lE | FTA 2.58
B g | #aE | KR 4,78
B o1k | HE | ik 5. 41
) HOUE | HUIE | s 6. 55
Hom BE | BUIE | AXE 6. 04
Hom) 4 x| #UE | a2 7.14
B HE | BUIE | JAEE 4,66
ks HOUE | FAE | AKH 6. 86
) UE | HUE | AKX 4.63
) HUE | BUVE | EE 6. 04
w4 YE | #UIE | TAeE 6. 06
w4 | HUE | TR 6. 94
Hm 4 POUE | IR | uEE= 2. 60
) BUE | UE | WEZ 1.10
Hom g | BUE | BNt 6. 60
# ) H1E | R | BRI 6. 60




B x| TEAEE | FAKE 4,20
B YoE | PR | xER 3. 86
Hom 4 HUUE | PR | BEN 2.98
Hom | AR | RS 4,20
B HaE | EAEE | BRS 1.82
B 1E | PIEE | AFEE 5. 08
AT EH HE VAT | SRRk 2.50
HlE 4R HE VAT E | ATAF o 4.74
R E k| AR | XIS 3. 00
A wiE | HEE | EXF 4.74
A PIE | PEEE | FEARKH 2.10
B Yo | PEARE | AEEE 2.98
w4 PR | PEAEE | AT 3. 86
H ) HiUE | TR | (ETPAE 3. 86
A wiE | mEE | ERE 2.10
gk x| EAEE | SR 2. 10
Hm 4 HOUE | PRAEE | AFRK 4,74
HlE 4R HE VEAEE | 5 gl 2.98
Hom 4 g | R | REE 5. 08
B g | EAEE | BER 3. 00
B Pa1E | TAEE | HFER 4,74
Al HOUE | PREE | AT 3. 86
) PUE | PR | AEESK 2. 10
Hom 4 ik | R | AEs 3.32
ik wiE | mEE | ERIE 4.20
B 1E | PR | FSER 3. 86
B g | FEAEE | AERAE 1.42
) BUE | EE | EEE 1.08
) HiUE | LR | mEiE 2. 10
B Ya1E | PEAEE | ARARA 2.98
B Ya1E | PEARE | SRR 2.98
ks HOUE | PRAEE | AESKR 1.22
w4 HOUE | PEAEE | ER 1.22
Hom) 4 g | R | ESE 0. 88
A oE | AR | AT 6. 84
B YaE | EAEE | RS 1.56
B g | PEEE | AFiRfE 13. 34
) E | AR | AUk 2. 10
# ) HOUE | TUEE | s 4.74
#h ) UE | FATE | HE 3. 86
B 21E | PEE | AEE 0. 88
B4 HE | TR | [ERE 4.74
) BUE | PEAEE | AR 2.98
Hom 4 k| R | AR 4. 30
A YE | AR | AERKR 8.94
B HIUE | PEAEEE | AEXITE 2. 10
A HOUE | PRAEE | TR 2.98
) BUE | THAEE | Bl 2.98
Hom HE | EE TR 1.76
#h ) g | EAEE | FEE 2.98
B YaE | PARE | S¥EE 3. 86
B Y | AEE | FRE 2. 10
Hom 4 PUUE | PEAEE | TS 6. 30
) HE | FEE | ATSRED 2.98
B x| EAEE | FRE 4.74
B g1E | PR | FRE 3. 80
B g | AEE | EER 2. 10
w4 HUUE | PR | AT 9.82
H ) HUE | TR | AT UE 4.20
ik YoUE | AR | EEZ 8.16




) B E | TEEE | K 3. 86
B P | PEAEAE | sk 1.24
) 4 YE | FEE | E5 0.38
k! BUE | PUEE | B 4.78
#h ) UE | FEAEE | & 1.90
#h ) PIUE | PEAESE | AR 4.20
#o ) BUE | PEAEIE | g 3. 86
B HE | RAEE | AESOK 5.36
R E 4 2 | RMEE | RS 10. 00
i f YE | RIEE | E5A 2.68
#h ) HITE | BARE | RS 2.00
B OUE | RAEE | AERGE 8. 04
B YE | RAEE | e 2.00
B E 4 2 | RMEE | AEns 4.00
i YIE | RAEE | AR 5. 36
#h ) UE | BAEE | EnE 4.02
#h ) UE | BARE | /RRAE 6. 70
4 HE | RAEE | AEFK 4.02
k! BUE | RMEE | EERE 9. 70
# 7 4 YE | RAEE | B 6. 70
Ho ) BIE | BAEE | XEE 5. 00
#h ) HUE | RARE | 8 3.30
# ) YOUE | AR | (R 4.02
B E 4 2 | RMEE | EFE 8. 04
# 7 4 YIE | RUEE | 54 4.02
R4 PUE | KAEE | KETE 12. 06
# ) HIUE | RARE | /R 4.50
B L | RAEE | (S 6. 70
) HVE | FARE | AFFER 8. 04
# 7 4 YIE | REE | B4E 4.02
#h ) Wk | BAERE | 6. 70
# ) HUE | BARE | A£F W 3.12
B HE | RAEE | A5 8. 04
7 i HIVE | FATHE | AERE 4. 02
7 4 YE | RAEE | KA 5. 36
#h ) BIE | KAEE | A3 K 8. 04
# ) IE | FARE | AREHE 2.68
B HE | RAEE | SR 2.23
7 i wE | BEE | EES 3.43
7 YE | RIEE | KR 9.92
A4 YE | BAEE | BEER 3. 00
#o ) Wk | BAEE | ERE 1.70
B HE | RAEE | EFR 1.70
7 o 2B\ R 4. 00
e 1 L 2BA MAEZ 1.00
R4 B 2B\ 2% 1.50
#h ) o 2B\ XI5 0. 60
# o 2B\ i 0. 80
B E 4 o 2BA Ik 0. 60
R E 4 o 2BA £IRTH 3.50
e 1 W 2B SR 2. 60
#h ) o 2B\ &= 1.60
Gk o 2BA BRI 1. 60
B E 4 o 2BA £IA 1.50
# 7 4 o 2B\ RRIE 2.90
e 1 I 2B =ik 5 2. 40
R4 o 2B\ KRE 3.40
Gk o 3BA XIR AL 4. 40
7 o 3BA RIS 0.30
e 1 L 3BA ALAF 1.00




) B I 3BA s 0.30
B o 3BA AT 0. 50
# o 3BA YL 4. 00
B E 4 o 3BA RS 3.80
R E 4 o 3BA SNEA 3.50
) B W 3BA BER 1.60
R4 o 3BA IR 0. 80
# ) o 3BA £EE 4.90
# ) B o 3BA AR 2.70
i f o 3BA AT 2.70
) B I 3BA P 1.30
B O 4R\ KPR 3.00
# o 4B\ 75 5. 00
H ) o 4B\ AL 3.00
H i 4B\ fRSES 3. 00
R4 U 4B\ REHE 4.00
B O 4\ FEH 4.50
# ) o 4B\ R 5. 00
k! T 4BA X 22 Ep 4.00
# 7 4 o 4B\ FhHEAE 5. 00
# 7 4 e 4B\ IR 4.00
B O 4\ PIRE 4.00
# ) o 4B\ X[z 4. 00
B E 4 o 4B\ XE g 5. 00
# 7 4 o 4B\ REA 4.00
) B 4B\ TS 4.00
o 4 s 4B\ VR 4.00
# ) o 4B\ 2R 3.00
k! T 4BA gl 4.50
)4 T 4BA X ERIE 20. 50
#h ) o 4BA X1 [ i 2.00
# ) i 4B\ X IGA 4.00
# o 4B\ Ul 4. 00
k! T 4BA 2 4.00
#h ) o 4BA SRR 2. 20
) B I 4\ SEF5 R 2.70
B o 5BA Wi 0. 50
# o 5B\ EEE 3.00
B E 4 o 5BA ZEHF 4.00
7 o 5B\ A 2.30
#h ) o 5B\ AR 6. 90
B O 5BA PUFE 3.20
# ) o 5B\ SRR B 2.00
k! o 5BA it E 1. 00
) 4 L 5BA a2 4. 40
R4 B 5BA RIS 1.20
Hm 4 o 5BA HAf D 3.90
# o 5B\ R 2.00
H ) e 5BA R 1.80
4 T 5BA e Z b 2. 20
A4 B 5BA EAR R 5. 60
B O 5BA ENEER] 1.00
# ) o 5B\ EAR A 2.00
k! T 5BA EUATAR 4.00
)4 L 5BA R 4.00
7 4 W 5B\ EWEN 2. 60
B O 5BA Vg 3. 00
# o 5B\ VR R 2.00
k! o 5BA Ut L 4.00
7 4 o 5B\ EUFE e 9. 00




) B I 5B\ B 3.00
# ) e 5B\ FKR 3. 00
# o 5B\ TEW TPy 4. 00
# ) o 5BA AN 3.00
) 4 T 5BA BRI 5. 30
A4 B 5BA XU 3. 00
B O 5BA U 4. 40
# ) o 5B\ Ut [A] 4. 80
k! T 5BA A 1% 1.60
R E 4 o 5BA A 2.30
7 4 W 5B\ I B 5.25
B O 5BA RV (iiPas 5.05
# o 5B\ N 0.20
H ) o 5B\ HHEE 6. 50
4 T 5BA TF5H 6. 50
R4 U 6BA Bk 4.10
B O 6BA I AAE 0. 50
# ) o 3N NG 1.10
k! o 6BA AR 3.00
)4 o 6BA AR 3. 50
R4 B 6IA AR 2 1. 60
B O 6BA P 3. 00
# ) o 3N R 1. 00
k! T 6BA ESFAL 0. 50
)4 o 6BA AR 2. 10
R4 B 6BA It 4. 20
R4 B 61A EJEH 3.00
B T 6BA X5 1.00
k! T 6BA RIS 2. 70
)4 o 6BA EU5F 3L 4.00
R4 B 6BA B 1. 00
# ) s 3N SRt 1.80
# o 3N TS 0. 80
k! o 6B A 0. 50
R E 4 o 6BA EN = 2.80
) B I 6BA VD 5. 00
R4 o 61A EAHER 0.50
# o 3N K&t 4.90
k! o 7B AW APy 2. 30
) 4 L 7B WG] 3. 30
A4 B TBA HAT 0.10
R4 o TBA B 1.30
# ) o 7B\ A 3.50
k! o 7B % 2. 00
R E 4 L TBA AN g 1. 40
) B I 7BA i 6. 00
R4 o TBA g 0.20
B i 7B\ i) 4. 00
k! o 7B AR 4.50
4 T 7B AL 2. 00
A4 B TBA I 3.00
B O 7BA PR 3.70
# ) o 7B\ A 1. 60
k! o 7B AR A 2. 50
)4 i 7BA g 3. 50
B I 7BA A 2. 00
#h ) o 7B\ ERliEs 2.50
B T 7B\ THE 3.00
k! T 7B G 478. 00
7 4 o 7B\ lEvE Py 5. 80




#h ) o 7BA Egye] 1.30
Hm 4 W TRA EWNE 3.10
) i 7B\ ELHLE 2. 60
gk o 7B\ Fig 0. 30
Hom) 4 W 7BA LR 2.70
ik T 7\ Fakid 0. 50
w4 W TRA el 3. 20
) i 7B\ Ry 2.50
Hom) 4 FIXEE N XM 2.91
w4 X 1B\ XH TS 0. 86
#h ) F 0 1B\ EERIN 3.85
Hm 4 1 1B Xl 3.26
w4 Epd)= N WEE 3. 88
ik X 1B\ THE 3.76
A X 1BA KR 4.05
#h ) F 0 1B\ HER 5.21
B X 1B\ Ik A3 3. 88
) X 1B\ SR 3.08
Hom 4 X N ISP 0.97
w4 X 1B\ e 4. 36
Ho ) F 0 1B\ HE%E 4,93
B X 1B\ e 3.13
) X 1B\ R 2.67
Hom 4 FIX N FRUKIK 3. 00
w4 X 1B\ Aff 2.88
#h ) F 0 1B\ SRERER 1.94
B X 1B\ E=E 2.91
Hm 4 Epd)= 1B eI 1.68
gk F1 3 N 2R 3.75
Hom) 4 X 1B\ SR/A=E 5.81
Hm F 0 N HA 1.94
B X 1B\ N 2.32
w4 Epd)= 1B XN EA 2.88
Hom) 4 FIX 1B\ EFE 1.94
#h ) F 1B\ EEREY 1.61
Hm X 1B HBHT 5 3. 88
A X 1BA HARAE 1.94
) X 1B\ A 4.78
Hom FIXE N A= 2.85
Hom) 4 X 1B\ ERGE 5.21
ik X 1BA a4t 3. 48
B4 X 1B\ SRS 1.94
Hm) 4 Epd)= N =5 3. 88
B X 1B\ SEXE 3. 16
w4 X 1B\ XI5 3. 86
A X 1BA [ 2. 68
Hm 4 1 1B\ L F5ER 5. 58
w4 Epd)= N R 2.91
B [ N life 4.85
Hom) 4 F 1B\ KRR 3. 88
#h ) F 0 1B\ k& 3F 1.94
ks X 2B\ AH A 4.91
Hom 4 Epd)= 28\ XEZE 1.18
Hom 4 FIX 2B b 5.02
# ) X 2B mRAE 3. 90
w4 F 0 28\ ATEK 6. 03
B X 2B\ X B 6. 40
w4 Epd)= 2FA EIGY 6.17
Hom FIXEE 2B XK 1. 48
w4 X 2B\ pULEE 5.91




#h ) X 2B XTI 2. 60
B X 2B\ X5 6. 16
Hom 4 ERd)s 28\ AEX 7.66
ik X 2B\ it 4.94
Hom) 4 X 2B\ XK 3.26
w4 F 0 2FA A 5.51
w4 1 2B XNEXK 3. 02
Hm) 4 Epd)= 2B EYEd 5.21
R E X 2B\ it 5.21
w4 F 2B\ VU B 4. 85
HE X 2FA TRE 3.90
A X 2B\ X 7 6.21
w4 Epd)= 2FA B 3. 80
Hom FIXEE 2B X B 5.81
A EIXIE 2B\ ABPA L 7.14
#h ) X 2B\ FLRE 8. 71
B X 2B\ R 1.97
Hm 4 Epd)= 28\ pUKIER 3.61
B X 2B\ pHIE 1.90
# ) X 2B TR 2. 40
Hom 4 F 0 2FA XU B #F 5.01
B X 2B\ (SR 5.51
Hm 4 Epd)= 28\ Xl 7K i 3.90
B F1 3 3BA YEI5 Mg 2.16
w4 X 3BA XIFEE 4,13
#h ) X 3BA FE&E 3. 67
Hm 4 0 3BA £EM 3. 67
Hm 4 Epd)= 3BA X7k 6. 08
ik X 3B\ XA 4.13
Hom) 4 F 3BA FhKES 3. 69
Hm X 3BA KRR 4,59
) X 3BA BURIE 2.76
w4 Epd)= 3BA 1E8i= 3. 67
gk X 3BA BT ED 5. 01
Hom) 4 F 3BA = U E 5. 58
Hm F 0 3BA HZ = 4,59
Hm 4 1 3BA Foi 2.76
ik Epd)s 3BA X 5. 62
Hom FIXE 3BA = G 2.90
Hom) 4 F 3BA EFra 1.83
#h ) X 3BA =k 2.76
ks X 3P\ X7kl 3. 67
Hm) 4 Epd)= 3BA e 3.74
B X 3BA F Y 1.96
w4 F 3BA X EAE 2. 40
Hm F 0 3BA IR B 3. 67
A X 3B\ e =t 2.76
w4 Epd)= 3BA X R 4. 59
Hom FIXEE 3BA IR 1.83
Hom) 4 F 3BA X £ 8.52
w4 F 0 3FA i) & 6. 42
Hm 4 F 1 3BA 15 2.76
7 4 X 3BA XE) 3. 67
B X 3BA FHEER 1.52
# ) X 3BA YR 3. 67
#h ) X 3BA EER 2.76
Hm 4 F 0 3BA TR 8.27
7 4 X 3BA XK & 3. 00
B X 3BA X 5.63
# ) F 3BA X 1.96




7 4 E 3BA X 5 2.76
o 4 E 3BA ik KR 4.59
4 SR 3BA Sy 3. 67
k! FI 3BA FREES 8.93
) 4 B X 3BA XK 5 1.83
7 4 E 3BA fhai =% 3.67
R4 X 3BA KR = 2.76
B B X 3BA RiEE 3.73
# ) B I 4B\ XK 7.32
4 EEJ)R 4B\ pipei 6.37
7 4 E 4B Xk 4.85
B B X 4\ X)) ek 6.82
B B 4B P4 18. 50
B E 4 X 4B\ LEKH 4.78
4 EEJ)R 4B\ e 6.37
) B B X 4\ X1 %% H 4.28
#h ) E 4B\ EER 9.12
4 B X 4B REH 4.75
) I 4B\ FHEM 3.23
# 7 4 B X 4BA X K 5. 67
B B X 4\ piplea 7.42
B B X 4\ XF 4.28
B B X 4B XK 3.56
) I 4B\ FER 4.78
)4 EEJ)R 4B\ X X 5.32
B B X 4\ X £ K 10. 60
B B X 4\ X)) 5. 65
o 4t SR 4B\ [ Rl 5.32
k! F 4BA XA H 5.32
)4 EEJ)R 4B\ XNEX 4.75
) B B X 4\ X PYFK 3.23
B B X 4BA B E 3.93
B B X 4B PR GdI: 5.32
k! F 4BA pIEER 9. 90
4 EEJ)R 4B\ ERHE 3.23
) B B X 4\ Xk i 2.14
B B X 4\ X1 bt 2 3.23
B B X 4B XK 12. 04
k! EEJ)R 4B\ B 6. 62
) 4 EEJ)R 4B\ 2Rk 3.23
7 4 E 4B X B 6. 65
o 4 E 4B\ XI5k 8. 55
o 4 SR 4B\ pAERREl 7.51
# ) I 4B\ pIHIE 11.57
7 4 B X 4BA e 5.32
) B B X 4\ AERK 4.28
#h ) E 4B\ e 7.97
4 SR 4B\ XA 3.23
k! [ 4BA XI) ) 52k 3.23
R E 4 EEJ)R 4B\ R 4.51
) B B X 4\ XA 6.37
o 4 E 4B\ XI4E 4.28
Gk X 4BA RN 4. 28
k! F 4BA e 5.92
)4 EEJ)R 4B\ i) 4] 1 7.51
B EEJ)R 4\ K55 6.32
o 4 X 4B\ XK 3.23
B B 4B ERIT 3.23
k! F 4BA L5548 3. 66
7 4 E 4BA B H %% 5.58




) B B X 4\ ZEHR 4.28
o 4 E 4B\ X 7K ik 6. 60
) 4 B X 4B XF R 7.74
# ) I 4B\ X)) > 6. 37
7 B X 4BA PN 4.85
) B B X 4\ APKRK 5.48
B B X 4\ PR IN 4.30
o 4 SR 4B\ il 4.43
R E 4 X 4B\ KT 3.14
4 EEJ)R 4B\ Kk 4.78
7 4 E 4B\ R 4.23
#h ) E 4B\ KR 5.92
B B 4B BN S 4.28
H ) I 4B\ ST 3.93
4 F 4B\ Ji iz 6. 55
) B B X 4\ FER 5.32
#h ) E 5B\ IS 4.36
4 B X 5BA B 9an 5.72
w4 I 5B\ X1 B UG 2.92
# 7 4 B X 5BA pELE 3.49
B B X 5BA b 4.66
B B X 5B\ F ik 3.72
B B X 5BA X 3.72
B E 4 X 5BA XFAE 5. 36
)4 EEJ)R 5BA AT 5. 59
7 4 E 5B\ X4 & 3.03
B B X 5BA Pl ENT 3. 80
o 4t SR 5B\ £33 2.79
w4 I 5B\ FE2 0.93
# 7 4 E 5BA Elyie; 2.79
7 4 E 5B\ X %5 3.72
# ) E 5B\ XI5 8.95
s 4 EE4):s 5B\ X5 3.72
B E 4 FXH 5BA pESE 21.61
4 B X 5BA RAKAE 1.55
) B EEJ)R 5BA H %1 3.72
B B X 5BA HRE 0.93
B B X 5BA xNEF 4. 70
B E 4 FXH 5BA BUEN 7.13
7 B X 5BA XFEFK 3. 74
7 4 E N pUEE 3.08
#o ) E 5B\ X EFK 1.86
B B X 5BA KEFH 3.72
# ) I 5B\ BAER 1.86
7 4 B X 5BA HEHE 2.81
) B B X 5BA bl 3.19
#h ) E 5B\ XHR K 4. 66
B B 5BA BIKEIPAN 4. 10
k! EEJ)R 5BA EHE 1.86
i I 5B\ IR HE 8. 29
7 4 E 5B\ JEAREL 3.26
#h ) E 5B\ SR kg 4.93
B B X 5BA X7 3.09
) I 5B\ 1o Je A 5.70
R E 4 EEJ)R 5BA KK 9.31
ki FI 6IA [ 5.12
o 4 X 3N ES e 5.72
B B 6BA %% T 4.61
k! F 6FA T &M 2.85
) 4 EEJ)R 6BA AR 5. 09




Hm F 0 6FA XK R 4,17
B X 6B\ RIS 3.07
7 4 X 6B\ BT 5. 89
gk X 6B\ X4 B 9.16
Hom) 4 X [N K= 5.57
#h ) X 6B\ S 4,09
w4 1 6FA plreS 7.52
Hm) 4 Epd)= 6FA X 5.35
Hom) 4 X 6IA XK 6. 20
# ) F 6BA KR 6. 16
HE F 0 6FA X EA 4,99
B X 6B\ XK 6. 26
w4 Epd)= 6FA X FEP 5.52
Hom FIXEE 6FA XK 10. 40
#h ) F 6BA XIFEE 7.85
#h ) X 6B\ L 8. 25
Hm 4 F 1 6FA XK 4,39
Hm 4 Epd)= 6FA X 4. 09
Hom 4 X 6A XUl B¢ 4,67
w4 F 6IA X 7 At 10. 30
Ho ) X 6B\ MR AE 4. 69
Hm 4 F 0 6FA KI5 5. 39
Hm 4 Epd)= 6FA XA R 7.90
B X 6B\ LSS 5.42
w4 F [N L& 3. 14
Hm F 0 6FA X 2R 5 7.99
ks X 6\ B 2. 04
Hm 4 Epd)= 6BA FAAE 5. 26
Hom 4 FIX 6FA X = 8. 44
Hom) 4 X [N R 3.07
Hm F 0 6FA Xl ] 6.18
ks X 6\ XK 1.55
w4 Epd)= 6FA XK 5. 56
Hom) 4 FIX 6FA P 3.07
#h ) X 6BA P 3.97
A X 6\ i 6.70
Hm 4 1 6FA XK 9.17
ik Epd)s 6BA FRELE 5. 26
Hom FIXE 7BA =i 6. 30
Hom) 4 F TBA XK 5. 09
w4 F 0 TRA X 3. 50
) X 7B\ 2= RN 4.19
7 4 X 7B\ AL 6. 70
Hom 4 X TBA XK A 3.12
w4 X TBA TR4E 5.02
#h ) X 7BA Fa 5. 32
A X 7B\ HRE 9. 50
w4 Epd)= TRA XK 4.07
B X 7BA oy 4.05
A X 7B\ S5 H 6. 09
w4 F 0 7BA ZERK 5.07
B X 7B\ X 45 8.32
Hom 4 Epd)= TRA X E 4.52
Hom 4 FIX TBA UES 3. 26
w4 X TBA IR 6.17
#h ) X 7BA XK 3.16
Al X 7B\ Xk & 3.25
7 4 X 7B\ K 3. 80
B X 7B\ AL E A 3. 66
# ) X 7BA X 3. 14




) B EEJ)R 7BA E i 4.58
B B X 7BA X 40y 3.59
4 SR 7B\ X3 3.36
B E 4 X 7BA XU AF 7.23
R E 4 EEJ)R TBA K07 o 5. 70
) B B X 7BA XK B 6.18
B B X 7BA THF 3.86
B B X 7BA PUER ¢ 2.79
k! EEJ)R 7BA UK K 7.23
4 EEJ)R 7BA XI) ) 2 4.48
7 4 E 7B\ =LK 5. 50
B B X 7BA XK 7.00
B B 7B\ RN 8.19
H ) I 7B\ X 5 5 4. 36
4 EEJ)R 7BA KNEX 5.14
7 4 E 7B\ X E & 5.14
o 4 E 7B\ X E 4.55
o 4t SR 7B\ 5757k 3.89
) I 7B\ X %2 5.20
# 7 4 E 7B R 3.14
R4 EEJ)R TBA X FHE 6. 30
B B X 7B\ K Fi A 4.16
Gk X TBA 2= 1.05
k! F 7BA P - 3. 00
# 7 4 E 7B X 5% 6. 50
7 4 E 7B\ KRA= 2.77
o 4 E 7B\ LR 4.08
B B X 7BA X FKAE 2.85
k! F 7B L] 5.93
)4 B X 7BA XK A 8. 60
) B B X 7BA X f 4 2.00
R4 X TBA Xl ) S 5.12
s 4 EE4):s 7B\ XA 4.92
k! F 7B SR A 3.19
7 4 I 7B XIS 5.14
) B B X 7BA HEEZ 3.20
B B X 7BA XFER 3.74
s 4 SR 7B\ L3 2.09
# ) I 7B\ XI| g 5% 5. 82
7 B X 7B XA 2.65
) B B X 7B\ LN 5.63
R4 X TBA il HE 5. 44
B B X TBA AR A& 5.31
# ) I 7B\ X FK 4.19
7 4 E 7Bk IDES 3.38
) B B X 7BA pUIEE 5. 30
#h ) E 7B\ ] 4.52
B B 7BA X E 6. 30
k! [ 7B X B 3. 19
4 B X 8BA MNEIE 6.23
) B B X 8BA MRAHEZ 8. 46
R4 X 8BA 5= 4. 84
B Epd)= 8BA WHZ 1.41
) I 8B\ AR B 6. 46
R E 4 EEJ)R 8BA M % 5. 49
B B X 8BA R 6. 14
#h ) X 8B\ MRS 3.63
B B 8BA MRAL bR 5.57
k! F 8BA Mg = 6. 14
) 4 B X1 8BA Mt e 6. 05




Hm F 0 8BA MWEAF 4,84
Hm 4 1 8BA IR 6. 89
7 4 X 8BA MR 8. 00
Hom FIXE 8FA MK % 4,75
#h ) X 8BA FER 4.75
ik X 8L L 6.21
w4 1 8BA MAEAE 4,28
Hm) 4 Epd)= 8BA ARAH L 6. 89
Hom) 4 FIXEE 8BA Mg 1.21
A X SPA AR EI 4. 84
HE F 0 8BA MAE 13. 00
Hm 4 1 8BA RE 3.63
w4 Epd)= 8BA MR % 6. 89
Hom FIXEE 8BA MR A 4,84
Hom) 4 F 8FA A 5 4,84
w4 s 8B\ MER 4. 84
) X 8BA PRAELEL 6. 89
Hm 4 Epd)= 8FA Xl 9.78
B X 9BA MEEH 3.71
w4 F 9pA KR 2. 41
Ho ) X 9BA i 0.51
Hm 4 F 0 9FA BRY 4,12
7 4 X 9BA BB 11. 95
B X 9BA AR 6.21
w4 X 9pA LER 7.26
#h ) X 9BA Pl 6. 05
Hm 4 0 9BA M 0.32
7 4 X 9BA X = 6. 42
Hom 4 FIX 9BA i 1.73
#h ) X 9BA oE2 3. 74
#h ) X 9BA MRIRLE 2.85
) X 9BA At 5. 34
w4 Epd)= 9BA MRAH 5 2.95
Hom) 4 FIX 9pA M 10. 33
#h ) F 9BA AR AR 4.00
Hm F 0 9BA MRAFDF 4,50
Hm 4 1 9FA R 14. 55
ik Epd)s 9BA wEE 4.75
Hom FIXE 9BA M 4,84
Hom) 4 X 9pA BRI 6. 05
w4 F 0 9BA M 7.94
Hm 4 F 1 9BA MALE 4, 84
Hm) 4 Epd)= 9BA R 3.13
Hom 4 FIXEE 9pA M 2.18
w4 F 9pA AR 4,84
#h ) X 9BA PRI 4,84
Hm 4 1 10BA Kt 6. 22
w4 Epd)= 10BA KR 3.03
Hom FIXEE 10\ FRAL 3. 08
Hom) 4 X 10BA KA1 2.11
w4 X 10BA FRA 4,75
Hm 4 F 1 10\ gyt e 1.62
Hom 4 Epd)= 10BA | ABRRE 3.07
B X 10BN | T CHF 2.63
w4 X 10BA [EE R 4,11
w4 X 10BA K 1.06
Al X 10BA ElN 3.11
w4 Epd)= 10BA FRZ 7.29
ik X 10BA T 5.13
ik EIXIE 10BA XEEZE 3. 06




Hm X 10BA FHIAE 2.17
) X 10 | FES 2.85
Hom 4 ERd)s 10BA TRE 3.08
gk X 10BN | fE3Edk 3.24
Hom) 4 X 10BA H 4,18
#h ) X 100 | SRE 4.29
w4 1 10BA HRE 2.13
Hm) 4 Epd)= 10BA TR 4.12
Hom) 4 FIXEE 10BA TRA 4,58
# ) F 10BN | Fot 10. 43
A EIXIE 10BA FFIHE 3. 37
Hm 4 1 10BA FIRE 5. 34
7 4 X 10BN | FRA 5. 34
B X 10BA | FKH 3.09
Hom) 4 X 10\ R 4,18
#h ) X 10BA | EEL 3. 10
B X 10BN | i 4.71
Hm 4 Epd)= 10BA F A 4.91
B X 10BA | AWK 3.72
w4 X 10BA FIRE 3.18
Hom 4 X 10BA FRIHE 3.37
Hm 4 F 0 10BA FEE 5.55
7 4 X 100 | AERE 3. 20
Hom 4 X 10BN | MRGE 1.14
# ) X 10BA | EERE 4.12
Hm X 10BA 7K TR 3.85
Hm 4 0 10BA F RN 6. 80
A X 10BA EEH 6. 24
gk X 10BA | PR 4. 14
ik EIXIE 10BA = 6.21
A EIXIE L1BA T 5.19
Hm 4 1 11BA FEH 6. 06
7 4 X BN | BEE 4. 00
gk X LIRA | FHIE 2. 69
Hom) 4 F 11BA 2 5. 44
#h ) X LIBA | XA 2.53
A X 11BA FHEZE 7.36
7 4 X LIBA | FKiE 2.96
gk X 11BN | FHH 2.83
Hom) 4 X 11BA FH B 2.67
ik EIXIE 11BA F R 4. 64
Hm 4 F 1 11BA FIRE 3. 88
Hm) 4 Epd)= 11BA FEERD 2.85
B X LIBA | FAH 2.53
w4 X L1BA FIKE 4,32
Hm X 11BA F R E 9.76
Hm 4 1 11BA FEHAL 6. 94
7 4 X 1B | BREE 4. 925
Hom FIXEE 11BA 1AL 4.12
#h ) X 11BN | ##k= 6. 25
w4 X 11BA A 3. 08
Hm 4 F 1 11BA FRE 4,78
Hom 4 Epd)= 11BA EA% 2.00
B X 11BN | EER 1.04
w4 X 11BA FRAS 4,51
w4 X 11BA R 4,20
Hm 4 F 0 11BA Hoete 4,47
7 4 X 1B | FE# 4.01
Hom X 11BA FHE 3.75
w4 X 11BA [ Sinica 6. 27




) B EEJ)R LIBA | FFI8 3.29
R4 EEJ)R L1BA FEEE 5.81
# SR LIBL | FHRI 2.47
k! B LIBA | =555 4. 08
) 4 EEJ)R LIBA | F&% 2. 00
) B EEJ)R LIBA | 3% 4.57
B B X LIBA | FHEAR 4.53
# ) JRE 2 1BA X524 0. 60
# ) B JE 2R 1B\ B 2.80
# ) JRE 2R 1B\ FHH 3. 50
#h ) JE 2R 1BA KR 2. 80
B JRE A 1BA X oA 3. 50
B JE 2R 1BA SER 4. 10
H ) 2R 1BA TR 5. 00
4 R 1B\ KiIbE 3. 50
#h ) JE AR 1BA E R 4. 67
R4 SRR 1BA TEH 2.80
4 JE 2R N Ein o 3. 50
) JE 2 1BA ErH 2.10
)4 JE 2R N TR 2. 80
Ho ) JE AR 1BA TR 4.20
#h ) R 2 1BA I 4.20
# ) JRE 2 1BA FiE 2.10
) JE 2R N T EiE 3.50
)4 SRR 1B\ TR 2. 10
#h ) JE 2R 1BA TRE 2.10
B JRE A 1BA TR 3. 50
B JE 2R N EXGIN 3. 50
) 2R N FF5 7% 0. 20
)4 SRR 1B\ TER 2. 80
#h ) JE 2R 1BA T 2.10
B JRE A 1BA THH 3.97
B JE 2R 1BA R 3. 50
) JE 2R 1B\ T Bk 0.50
#h ) JE 2R 1B\ FRa 2. 80
) B R 1BA TEX 6. 30
B JRE A 1BA b S 2.10
B JE 2R N BRG] 2.80
# ) JE 2R 1B\ FIRE 0. 20
) 4 SRR N TE% 3. 50
#h ) JE AR 1BA ke 0.30
#o ) R 2 1BA TEiE 4.10
# ) JRE 2 1BA T 2.10
# ) JE 2R 1B\ 55 5. 00
# ) JRE 2R 1B\ T E 2.50
#h ) JE 2R 1BA SERKAE 2.50
B JRE A 1BA X 74 2.80
B JE R 1BA TROR IR 0.10
H ) 2R 1BA EAYaR;( 2.80
#h ) JE 2R 1B\ BT 2.80
#h ) JE AR 1BA TEAS 0.50
#h ) JRE 2 1BA T 4.20
B JE 2R N FkieE 1.40
) JE 2R 1B\ XA 0.80
)4 SRR N KB L 0. 50
#h ) JE AR 1BA INFAR 2.00
B JRE A 1BA ENGIES 3. 60
B JE 2R N TER 6. 30
H ) JE 2R 1BA GAEAL 2.10
) 4 R 1B\ TER 2. 00




#h ) JE 2R 1BA T 4.20
B JRE A 1BA Jill 2 2.80
4 R 1BA BRI 1.97
# ) 2R N KA 2.10
R E 4 B 1B ;MFHE= 2.90
A4 B 1BA PN 2.10
B JRE AR 1BA TE% 4.20
B JE 2R N TENR 0. 40
# ) B JE 2R 1BA R 1. 40
4 JRE 2R N BN D 0. 70
#h ) R 2 1BA 175 1k 1. 40
R4 SRR 1BA ES 2.80
# JE 2R 1BA A 2. 80
H ) JE 2R N KE= 0.50
4 R 1B\ TE® 3. 50
) B R 1BA TR ORAT 4.20
B JRE A 1BA TER 4.20
4 JE 2R 1BA AR 2.80
) JE 2R 1BA TRIR % 4.30
)4 SRR N BN 3. 50
B R 1BA TEH 2. 80
#h ) JRE A 1BA Fgr 2.10
Gk R 1BA R RIAT] 3.50
) JE 2R N BN 2.80
# ) JE 2R 1B\ EN=D' 2.80
#h ) JE 2R 1BA M E I 4.20
# ) JRE A 1BA ERa 3.50
# ) JE 2R 1BA E L 2. 80
k! R R 2BA ZAh 156. 00
)4 JE 2R 2BA B3 1.50
#h ) JE 2R 2B\ E¥ 3.21
R4 SRR 2B\ Z 0. 64
Gk R 2B\ K5 = 1.84
) JE 2R 2BA AT 2.30
#h ) JE 2R 2B\ FERGE 2.96
) B R 2B\ TR 2.06
# ) JRE 2 2B\ ey il 1.81
# JE 2R 2B\ TR 0.76
# ) JE 2R 2B\ ZEHRED 2.10
) 4 JE 2R 2BA Bk ey 1.60
#h ) JE AR 2B\ ZEE 3. 14
#o ) JRE A 2B\ Rk 2 3.00
Gk R 2B\ LEF 1.48
# ) JE 2R 2BA i 0.98
) 4 JRE 2R 2BA T 2. 20
#h ) JE 2R 2B\ EEE 1.90
#h ) JRE A 2B\ 25k 3.20
# JE R 2B\ EESd 2.23
H ) 2R 2B\ R 1.30
4 JE 2R 2BA R 3.72
#h ) JE AR 2B\ BN 4.10
#h ) JRE A 2B\ TR 2.31
# ) JE 2R 2B\ & 3. 14
) JE 2R 2BA R 1.90
# ) JE 2R 3BA 2k 0.90
#h ) JE AR 3BA 22k 0.90
#h ) JRE A 3BA e 0.40
B JE 2R 3BA B 0.90
H ) JE 2R 3BA =L 3. 04
# ) JEE 2R 3BA ZP 3. 74




B R 3BA R 0. 90
B A 3BA e 2.90
) JE 2 3BA Ao 0. 40
gk R 3BA EHEE 2.90
Hom) 4 R 3BA I 0. 50
B R 3BA ZH 0. 20
B A 3BA ZIRTH 0.82
Hm) 4 R 3BA pUP=AN 1.70
B R 3BA I 0.54
w4 2 3BA IS 2.90
B R 3BA X AR 0. 70
B A 4 2k, 3. 46
) 2 4 2 0. 90
B R 4 SHEE 1.00
Hom) 4 2 e 4 AR AE 2.00
#h ) R 4 Bl 1.55
B A 4 ZJkde 0. 50
) 2 4 e 0.76
B R 5 FREZE 0.85
B R 5 22 Ah 0.50
Ho ) R 5 25 B 0.40
B A 5 THE 1.70
) 2 5 ZHE 1.28
B R 5 XRZ 1.00
B R 5 fRFKGE 0.68
Hm R 2 5 R 1.24
B R 5 RERIE 2.59
) R 5 Z3Jk 4 1.10
gk R 5 ZJKiE 2.46
B R 5 2kl 2.90
B R 5 XN Z M 1.42
B R 5 AT 0.10
) 2 5 IS 1.13
gk R 5 Tk 4kt 0.30
B R 5 $LZ % 1.60
#h ) R 5 EI 2.23
B A 5 2k H 2.13
) R 5 P 0.68
gk R 5 TRERKGE 1.03
Hom) 4 2 6 GRIT 3.30
B R 6 AR 3. 60
B4 A 6 2% FH 2.70
) 2 6 A3 1 3. 40
B R 6 2T B 1.40
B R 6 INE#E 2.70
#h ) R 6 ARk 5. 40
B A 6 A 2 3. 60
) 2 6 k=gsyie 3. 60
B R 6 R 6. 30
Hom) 4 2 6 e 0.30
#h ) R 6 B 0UR 4. 50
B A 6 e 1.80
Hom 4 R 6 ZIRHE 2.70
B R 6 I 0. 60
w4 2 6 FEITN 3. 60
#h ) R 6 =Y 0.70
B A 6 X F g 2.20
w4 R 6 RS 1. 40
B R 6 KEE 2. 30
w4 2 e 7 i 3.50




B R 7 XNE= 5. 50
B R 7 SN 4,60
) R 7 2k 4. 60
gk R 7 2Rk 4.60
B R 7 Ll 2. 50
B R 7 PEE 4. 80
w4 R 7 BHEY 4. 60
Hm) 4 R 7 IR 4. 50
B R 7 R 3. 30
w4 2 7 b5 5. 80
#h ) R 7 R 5. 50
B R 7 pliRAREAR 1.10
) R 7 S 5. 80
B R 7 £k 5. 20
A A 7 XIEEE 4. 40
gk R 8 XN HH 0. 60
B R 8 AR 1. 40
) R 8 ZEFRAL 1.80
B R 8 NFE 5. 10
ik R 8 FHE 5.10
Hom 4 SRR 8 B 1.30
B R R 8 EE 6. 80
) R 8 I ¥4 0. 60
B R 8 Z=JkSr 3. 40
B R 8 X ER 2. 60
#h ) R 8 EYE S 4.70
B R 8 BN 1.90
Hm 4 R 8 R 2.15
gk R 8 R 0. 60
Hom) 4 2 8 K5 7.70
B R 8 REH 2.15
B R 8 R 3. 40
) R 8 e 2. 60
gk R 8 BB 3. 90
B R 8 At [E 2. 60
B R 8 2T 3. 40
B R 9 JE B e 6. 00
) R 9 £ 0. 70
gk R 9 I 2.20
B R 9 FEH2 2. 60
#h ) R 9 LS 1.64
B4 JE R R 9 XU 0. 30
) R 9 25k 0. 70
B R 9 Ik 1.40
w4 2 9 5ok 2. 40
B R 9 TEB 0. 80
Hm 4 R 9 AR 1. 40
) R 9 gl 2. 60
B R 9 ST 2% 3. 60
Hom) 4 2 9 FEH 0.90
#h ) R 9 2 4. 00
B R 9 EINR 4,00
) R 9 IWAZE 1.50
B R 9 A 0. 60
w4 2 9 IR 0.10
B R 9 25k I 2.55
B R R 9 R 0. 20
) R 9 HF == 2.06
B R 9 = 1.40
ik R 9 FEEH 3. 40




R4 B 9 20 2.50
# ) JRE A 9 AT 5.15
# JE 2R 9 XA 3.10
B E 4 B 9 22 0. 80
#h ) JE 2R 9 2R 2.30
#h ) JE AR 9 XN T 2.30
#o ) JRE AR 10 I 0. 40
# ) JE 2R 10 PR 3. 80
R E 4 B 10 Ze 3.13
4 SRR 10 =2 3. 40
e 1 JE 2R 10 BB 3.40
R4 SRR 10 XU 3.57
# JE 2R 10 ER 7.00
H ) JE 2R 10 BT 4.76
4 R 10 Z=] [ 4.60
#h ) JE AR 10 52 2.90
#h ) JRE A 10 e 3 0. 80
# ) JE 2R 10 2B 3.68
B E 4 B 10 22 4.30
R E 4 B 10 i 0.74
B R 10 & 3.70
#h ) JRE A 10 TR 3.03
# ) JE 2R 10 2K 1.19
) JE 2R 10 TR 2.10
R E 4 B 10 I 0.70
#h ) JE 2R 10 FEATF 6. 00
# ) JRE A 10 2L 1. 00
# ) JE 2R 10 EIR L 1.03
) JE 2R 10 I 3.80
)4 SRR 10 22k Ak 4.30
#h ) JE 2R 10 A= 0.52
# ) JRE A 11 2k, 3.90
# JE 2R 11 =2k 4.20
) JE 2R 11 TR 4.20
R E 4 B 11 B E 4.20
#h ) JE 2R 11 23k E 3.30
# ) JRE A 11 ZJK4R 4.20
# JE 2R 11 S 1.90
# ) JE 2R 11 IS 3.30
#h ) JE 2R 11 FEE 4.20
A4 B 11 NEFS 4.50
#o ) JRE A 11 R 3.30
# ) JE 2R 11 k= 3.70
7 JE 2R 11 IR 4.20
R E 4 B 11 RZ 2.50
) B R 11 X 7 2R 2.50
#h ) JRE A 11 Tk EAY 2.50
# JE R 11 M 12. 00
H ) 2R 11 ZIREF 3.30
4 SRR 11 2 2. 40
#h ) JE AR 11 TRk 2.40
#h ) JRE A 11 25 4.90
# ) JE 2R 11 MRED 1.70
) JE 2R 11 5=5 2.50
R E 4 B 11 ZEEd 395. 00
e 1 JE AR 11 B3y 3.70
#h ) JRE A 11 AP A 3.70
B JE 2R 11 L33 2.50
H ) JE 2R 11 £ 4.90
) 4 R 11 ZIRM 4.20




) B R 11 5 3.30
# ) JRE A 11 2k g 4.90
# JE 2R 11 5HEG 3.30
# ) 2R 11 FH= 3.30
) 4 SRR 11 IR 3. 60
7 4 JE AR 11 MEH 5. 70
#o ) JRE AR 11 = 3.30
# ) JE 2R 11 R ) 2.50
# ) B JE 2R 11 2k 4.20
R E 4 B 11 ZE 3 4.20
#h ) JE 2R 11 2 2.50
#h ) JRE A 11 A 2.40
Gk R 11 ZE1 2.50
H ) JE 2R 11 X 54 5. 70
4 R 11 IR 2. 40
#h ) JE AR 11 Ik E 5. 70
#h ) JRE A 11 ks 4.20
# ) JE 2R 11 2R 3.30
) JE 2R 11 TR 4.90
)4 SRR 12 R ik 1.80
R4 B 12 Zis 4.50
#h ) JRE A 12 EI 5. 40
# ) JE 2R 12 EEE 0.36
) JE 2R 12 A5 2.82
)4 SRR 12 =K 5. 66
#h ) JE 2R 12 KBEE 0.30
B JRE A 12 ik 1.50
# ) JE 2R 12 F 5 4.50
) JE 2R 12 R 0.50
)4 SRR 12 EEA 5. 30
7 4 JE 2R 12 G 1. 09
B JRE A 12 ZI G 0. 50
# JE 2R 12 AT 2.70
) JE 2R 12 pigls) 1.10
R E 4 B 12 Z=oeid 2. 60
7 4 JE 2R 12 2R EAR 5. 30
# ) JRE A 12 EbES 3.50
B JE 2R 12 N 0.10
B E 4 B 12 b 0.90
R E 4 B 13 ZEHift 3.90
#h ) JE AR 13 EIgE 1.20
B JRE A 13 SRS T 2.00
# ) JE 2R 13 Eid 0.90
# ) JE 2R 13 MER 3.20
) 4 SRR 13 LRI 0. 80
) B R 13 X IE 1.20
#h ) JRE 2 13 LIS 0.50
# JE R 13 EigPiy 1.10
H ) 2R 13 PR 6. 40
#h ) JE 2R 13 F LA 3. 60
#h ) JE AR 13 2R EM 2.40
#h ) JRE A 13 R 0.90
B JE 2R 13 AT 4. 10
) JE 2R 14 X434 2.00
)4 SRR 14 EEl| 5. 00
#h ) JE AR 14 AT R 1. 00
#h ) JRE A 14 T4 2.00
# JE 2R 14 EEE 1. 00
H ) JE 2R 14 LI 1. 00
R4 B 14 B 0.70




7 4 JE 2R 14 SR 3.00
# ) JRE A 14 R 0.90
) 4 JE 2R 14 A 5. 00
# ) 2R 14 2RI 2.70
R E 4 B 14 AL 0.70
7 4 JE AR 15 RBHEE 2. 80
#o ) JRE AR 15 SRR 1.80
Gk R 15 TR 1.45
k! SRR 15 TEH 1.00
R E 4 B 15 B 1.80
#h ) JE 2R 15 A% 4.87
R4 SRR 15 TE% 6.16
# JE 2R 15 5 3.58
H ) JE 2R 15 pES: 4.80
4 R 15 EEE 1.90
#h ) JE AR 15 XI5 1.08
#h ) JRE A 15 AW 5. 64
# ) JE 2R 15 T 1.45
k! R R 15 TS 1.20
# 7 4 JE 2R 15 TAEFT 7.50
B R 15 T 0.83
#h ) JRE A 15 T&5 1.10
# ) JE 2R 15 FEAEE 4. 00
k! R R 15 TN 1.20
)4 SRR 15 TEH 4.33
B R 15 AR 3. 64
# ) JRE A 15 EHIT 2.00
B JE 2R 15 TH& 7.80
k! R R 15 B 2. 90
)4 SRR 15 TEH 2. 70
#h ) JE 2R 15 EE 3.40
# ) JRE A 15 A= 4. 80
# JE 2R 15 EHEW 2.00
B E 4 B 15 Tt 1.50
4 SRR 16 A 0. 80
#h ) JE 2R 16 FEAEL 1.70
# ) JRE A 16 A 1.50
# JE 2R 16 R4 2.30
# ) JE 2R 16 de/NFi 3.50
#h ) JE 2R 16 0 7.90
7 4 JE AR 16 25 1. 80
#o ) JRE A 16 LA 3.70
# ) JE 2R 16 R L 0.30
B E 4 B 16 T 1.00
# ) JRE 2R 16 bk 1.50
#h ) JE 2R 16 T ke 1.60
R4 SRR 16 EFAR5] 0.90
# JE R 16 R H 0.30
k! R 16 ey 2. 50
4 SRR 16 SR IE 1.10
) B R 16 Y 1.00
#h ) JRE A 16 = 0.50
# ) JE 2R 16 A 1.70
) JE 2R 16 Ei s 4.00
)4 SRR 17 R 5. 70
R4 B 17 A 3.80
#h ) JRE A 17 TEAEE 1.90
# JE 2R 17 FAER 10. 40
H ) JE 2R 17 e 3.80
# ) JEE 2R 17 EIESa 3.80




B R 17 FAERR 0. 40
B R 17 EIE-S 3. 80
) R 17 SR 0. 50
gk R 17 mRALE 2. 60
Hom) 4 2 17 FHEK 3.30
w4 2 17 = 6. 20
ik 2 17 EAET 2.90
) R 17 TR 0. 70
R E R 17 FEE 6.70
w4 2 17 B! 3. 80
B R 17 T 0. 30
A 2 17 12T 1. 00
) R 17 AR 1.90
ik R 17 FAR 3.00
Hom) 4 2 e 17 FAE: 5.70
ik A 17 Bl 3. 80
B R 17 TSR 1.70
A SR 17 BET 2.00
ik R 17 PNy 5.70
ik R 18 TAEE 6. 00
ik A 18 FAR# 1. 10
Al SRR 2 18 THRE 233. 87
Hm 4 R 18 55 & 2.70
B R 18 Fh 2.55
B R 18 FHhA 4.30
B R 18 FLER 6. 00
B R 18 FA£L 2. 50
A SR 18 FARH: 3. 40
Hom 4 2 18 TAEE 0. 30
B R 18 e H 2. 50
A A 18 F 4l 4. 30
B R 18 FHEL 1.72
) R 18 FEE= 6. 00
Hom) 4 2 18 FEAERE 5. 50
Hom) 4 2 18 KRR 2. 60
A A 18 EARLE 3. 40
B R 18 ZEFK IR 2. 60
ik R 18 FHIE 4. 30
gk R 18 T 2. 60
Hom) 4 2 18 FEE = 2.70
B R 18 FLEN 2. 60
B4 JE R R 18 FAER 6. 40
Hm) 4 R 18 B2 3.70
Hom 4 R 18 e 3. 40
w4 2 18 ZEFEM 2.30
B 76 3% 1 TEW 0. 60
B 76 D% 1 s 0. 80
) P 3% 1 R 0. 50
B 75 3% 1 137 4] 2. 10
A P12 1 H&ER 3.90
B 76 3% 1 FEEYE 0. 90
B 76 3% 1 Tt 0. 50
) P 3% 1 M 1. 40
B 75 3% 1 i te 2. 60
B P12 1 TR 2. 00
B 76 3% 1 YO 1.30
B 76 D% 1 DRk 2. 80
) P 3% 1 O 1.00
B 75 3% 1 i fi 2. 60
B P12 1 OHF& 1.40




#h ) PiDI% 1 PR 2. 60
# ) PiI% 1 e 3. 60
# P 1 e 1.50
k! LR 1 i 2. 00
#h ) P 1 Yk 7 2. 60
) B 76 3% 1 7K 0. 60
#o ) PiI% 1 HE&x 1. 40
# ) P 1 Y 0. 60
k! LR 1 itk 3. 00
R E 4 P 3% 1 EESEES 2. 00
#h ) PiDI% 1 ] 1. 00
#h ) P I% 1 i 0.90
B P 1 % 1.00
H ) 75 5 1% 1 Z=JK N 1.10
#h ) Vi3 1 kA 0. 60
7 4 P I% 1 )1 1. 00
#h ) P I% 1 TN 1. 00
# ) P 1 EHE 2.40
k! LR 1 S48 1.00
# ) P 1 EB%E 3.10
Ho ) P I% 1 e 7. 1.30
B P I% 1 IELE! 2.50
# ) P 1 =R 0. 80
B E 4 P 1 A 1.00
# ) P I% 1 o 2.00
#h ) PiDI% 1 Ok H 2.00
B PiI% 1 pa il 2.30
# ) P 1 % 1.20
) 75 5 1% 1 AR 1.00
#h ) P I% 1 7k 1.70
) B P 1 % 1 E 1.00
# ) PiI% 1 kg 0. 80
B P 1 Wit 1. 00
) 75 5 1% 1 TR 1. 00
4 P 1 Vs 1.90
7 4 PiDI% 1 =ESia 1.50
# ) PiI% 1 H Hi 5 1.20
# P 1 =E357 0. 60
k! LR 1 MR 2. 30
#h ) P 1 T4RER 1. 00
#h ) P 1 5[ 2.00
B P I% 1 T 1.60
# ) P 1 Ik 0.70
# ) 75 5 1% 1 Uy 2.00
) 4 P 1 WAL 1.50
#h ) PiDI% 1 E Ak 2.00
#h ) P I% 1 Y 2.00
Gk P 1 AR 3.70
B E 4 P 1 TR 1.20
4 P 1 EESS 1.00
7 4 PiDI% 1 i 1.00
#h ) P I% 1 g 1.20
# ) P 1 ok 1. 00
) 75 5 1% 1 P 1. 00
R E 4 P % 1 HzEA 0.90
#h ) PiDI% 1 KA 1. 00
#h ) P I% 1 O 3.30
# P 1 = 1.10
H ) 75 5 1% 1 s 0. 80
# ) P 1 Tk EX N 0. 80




#h ) PiDI% 1 BT 1. 00
# ) PiI% 1 Y] 0.30
# P 1 By 2.70
# ) 75 5 1% 1 EH— 2.50
#h ) P 1 T Y I 2.30
7 4 P 1 ViR 0.30
#o ) PiI% 1 K 2.30
# ) P 1 Y& 2.30
k! LR 1 ik R 3.70
R E 4 P 3% 1 HIEAE 1.00
) B P 1 kit 1.10
#h ) P I% 1 7K H 0.70
# P 1 iz [ 2.00
H ) 76 D% 1 SERS 1. 00
#h ) P 1 YA 1. 40
) B P I% 1 4k 1.30
#h ) P I% 1 ¥ 1. 00
# ) P 1 5% 1. 80
B E 4 P 1 I 4R Ak 1.00
R E 4 P % 1 i 0.80
Ho ) P I% 1 i % 3.10
B P I% 1 5H 0. 80
# ) P 1 i R 1.90
) 75 5 1% 1 TR 1. 00
R E 4 P % 1 gk 0. 80
7 4 PiDI% 1 FE % 2.10
# ) PiI% 1 sl 1. 00
Gk P 1 A% 1.50
k! 75 5 1% 1 iz 0. 90
)4 P 1 TRt 1.50
7 4 PiDI% 1 A I 1. 00
B PiI% 1 HkE 1.80
# P 1 5 2.00
B E 4 LR 1 S 1.50
#h ) P I% 1 7 1.20
#h ) PiDI% 1 iR 0.90
R4 P 1 e 1.20
B P 1 2= 4k 1.00
# ) 75 5 1% 1 ) FH U 1. 40
) 4 P 1 i 3 1.00
#h ) P 1 TR 1.20
#o ) P I% 1 OH%E 2.00
# ) P 1 METT 1.20
# ) 75 5 1% 1 iz e 2.50
R E 4 P 3% 1 I 4k 1. 40
#h ) PiDI% 1 7KK 1. 00
#h ) P I% 1 k% 3.00
Gk P 1 iy 1.80
k! LR 1 vk 1.00
#h ) P 1 o sg 1.50
#h ) PiDI% 1 ke 1.10
#h ) P I% 1 iz Y 2.20
# ) P 1 RSt 1. 00
B E 4 P 1 7KL 2.50
)4 P 1 itk 4.20
#h ) PiDI% 1 I Yk i 0.50
R4 P 1 Y 1.00
# P 1 o ik 1. 00
H ) 75 5 1% 1 LAl 0. 40
# ) P 1 A TR 0.70




) B P 2 XN 2.70
# ) PiI% 2 AR S 2.70
# P 2 g 2. 80
k! LR 2 IRE 3. 40
R E 4 P % 2 I [ER 1.00
7 4 P 2 B35 1.60
B PiI% 2 W 0.50
# ) P 2 I 1. 00
k! LR 2 IR 1.00
4 P 2 [iS=%)) 1.00
#h ) PiDI% 2 0 i) 2.70
#h ) P I% 2 EREE 2.50
Gk P 2 O 1. 00
H ) 75 5 1% 2 g 2. 60
#h ) P 2 o Bk 2.40
#h ) P I% 2 XI5 7 4.00
#h ) P I% 2 2y 1.10
# ) P 2 OEx 0. 60
B E 4 P 2 ThHELL 3.20
)4 P 2 T 0. 80
B P 2 Lg% 1.00
B P I% 2 TS 1.00
# ) P 2 oA 1.60
) 75 5 1% 2 HAH R 0. 80
)4 P 2 FE M 1.80
7 4 PiDI% 2 [ E % 3.40
# ) PiI% 2 PR 3.20
# ) P 2 e A 0. 80
k! LR 2 kT 1. 40
#h ) P I% 2 T 1.30
#h ) PiDI% 2 P 2.10
# ) PiI% 2 ik 2.00
B P 2 W Z[H 0. 50
) 75 5 1% 2 T I 0. 80
#h ) P I% 2 ek 1.50
7 4 73 2 WaE 1. 00
# ) PiI% 2 R 1. 00
B P 2 PaY ) 2.00
k! LR 2 e 0. 60
#h ) P 2 R 0.50
#h ) P 2 OG5 1. 00
#o ) P I% 2 LS 2.00
Gk P 2 K 1.20
k! LR 2 e 2. 80
# ) P 2 oL 0. 60
7 4 PiDI% 2 O 0. 60
#h ) P I% 2 I 0.70
# P 2 =LY 1.90
k! LR 2 XNFHIE 0. 80
4 P 2 i 0. 80
#h ) PiDI% 2 0 [ % 1. 00
#h ) P I% 2 G 1. 00
# ) P 2 ook 1. 80
k! LR 2 vk 1.00
)4 P 2 i 0. 70
#h ) PiDI% 2 ETiEa 0.50
#h ) P I% 2 JA SN 1.30
# P 2 W 1. 00
k! 3% 2 KL 2.00
R4 P % 2 DHK 0. 60




B 76 3% 2 D AH#E 2. 50
B 76 3% 2 izt 1.00
) P 3% 2 rig 1.80
gk 75 3% 2 2% 1.00
A 75 53 2 K 1. 00
w4 P12 2 ¥t 2.70
w4 76 3% 2 YofR 3.70
) P 3% 2 = 1.50
B 75 3% 2 5 1.00
A 75 53 2 ot 1. 20
#h ) 76 3% 2 SER 1. 40
B 76 D% 2 OEE 1.60
A P 2 ZHEE 1. 00
B 75 3% 2 EE 1.00
B 5 3% 2 N 1.00
#h ) 76 3% 2 OILE 1.80
B 76 3% 2 Ik 3. 30
) P 3% 2 O 0. 70
ik 76 53 2 M 2.70
B 5 3% 2 oW 1.00
B 76 3% 2 LEE 1. 40
B 76 3% 2 HLE 1.50
) P 3% 2 oy 1.00
B 75 3% 2 =han]l! 1.50
w4 P12 2 TR 2.00
Hm P12 2 g% 1.80
B 76 3% 2 Y 1.80
) P 3% 2 HAHAE 1.50
gk 75 3% 2 o5E 1.00
Hom) 4 P12 2 = Gile 3.20
#h ) 76 3% 2 OEE 0. 60
B 76 3% 2 e R 0. 90
w4 P 3% 2 Y ats 1.80
gk 75 3% 2 5 2. 00
Hom) 4 P12 2 =1k 2.30
Hm 76 3% 2 SigE 3.30
B 76 3% 2 ORYE 1.00
) P 3% 2 LT 2. 40
gk 75 3% 2 A AR 1.00
B 5 3% 2 LK 1.00
ik 75 3%, 2 Wi 0. 60
B4 76 3% 2 s 1.20
A P 2 OE4 1. 00
ik 76 53 2 Ik & 0. 50
w4 P12 2 ZEAE 2.00
B 76 3% 2 HE%E 2. 00
Hm 4 76 D% 2 NPT 0. 50
) P 3% 2 =R 1.00
Hom 73 2 SRt 0.80
B 76 1 4% 3 VLR 1.90
B 76 3% 3 JH R 1.20
B 76 3% 3 XK 0. 90
) P 3% 3 gk 0. 50
B 75 3% 3 ) [ 0. 50
B 5 3% 3 75 F 2. 00
B 76 3% 3 X7k 1.30
Hm 4 76 D% 3 Lph el 2.30
) P 3% 3 s 0. 90
B 75 3% 3 EESEN 0. 70
B 5 3% 3 et 0. 70




#h ) 73 3 I I 1.00
B PiI% 3 WE k. 3.60
4 P 3 g 1.30
k! LR 3 XK 2 1.00
#h ) P 3 | 1.10
7 4 P 3% 3 XU 0. 90
o 4 P 3% 3 TR 1.20
o 4 P 3% 3 THE 1.50
# ) B 75 5 1% 3 O 0. 60
4 P 3 LiE 0. 90
7 4 PiDI% 3 it 1.10
o 4 73 3 R 0. 80
4 i3 3 5k by 1.10
k! LR 3 JHR R 1.00
4 P 3 XK R 0. 40
#h ) P 3% 3 FE) 0. 90
o 4 P 3% 3 i 0. 90
o 4t i3 3 JASHE 0. 60
) 75 5 1% 3 ) 0.70
R E 4 P % 3 KN 0.70
B P 3 K i 1.00
R4 P 3 Wi 1.00
o 4t i3 3 LR 1.40
) 75 5 1% 3 it 1.32
)4 P 3 XIFA 1.00
7 4 P 3% 3 VB AR 1.50
o 4 P 3% 3 g 1.80
o 4t i3 3 Y 0. 60
k! LR 3 Bk 0. 70
)4 P 3 N4 2. 70
#h ) P 3% 3 R 1.00
o 4 P 3% 3 XK R 2.10
s 4 i3 3 R 0.50
k! LR 3 =B 0. 50
4 P 3 L 0. 80
#h ) 73 3 BIRY 0. 90
o 4 73 3 JE 1. 80
s 4 i3 3 SR 1.40
B E 4 P 3 TkIF 1.00
#h ) P 3 el 0. 80
#h ) P 3% 3 o=k 0.70
R4 T 3 W 0. 60
o 4 P 3% 3 o5ty 1. 00
# ) 75 5 1% 3 et 2. 60
# ) P 3 HE 0. 60
7 4 PiDI% 3 0 0. 50
o 4 73 3 M EiE 0. 90
4 i3 3 oEH 1. 80
H ) 75 T 3% 3 1 EH 1. 00
#h ) P 3 R 1.00
#h ) P 3% 3 JHZH 1. 80
o 4 P 3% 3 O 0. 50
o 4 i3 3 VO IE 2. 50
) 75 5 1% 3 R 5 o 0. 60
# ) P 3 EdE 0.70
#h ) 73 3 A 0. 50
o 4 73 3 LI 0. 80
4 i3 3 5 0. 80
H ) 75 5 1% 3 Al 0. 50
# ) P 3 o 2. 50




#h ) PiDI% 3 L5 1.50
# ) PiI% 3 I it 1. 00
# P 3 I H 0. 60
k! LR 3 WRZE 1.00
#h ) P 3 L 2.20
) B 76 3% 3 ik 0. 80
#o ) PiI% 3 P 0.90
# ) P 3 ILFE N 1.20
# ) B 75 5 1% 3 JH SRR 1. 00
4 P 3 XA I 0. 80
7 4 PiDI% 3 Rty 0.30
#h ) P I% 3 XiFaEE 0.50
# P 3 [R%Ea 0. 40
k! LR 3 Ly 0. 30
#h ) P 3 R 0. 60
#h ) P I% 3 XAA T 1. 00
#h ) P I% 3 FEHL 1. 00
# ) P 3 HE 0.50
B E 4 P 3 o 1.00
# ) P 3 By eys) 0.50
Ho ) P I% 3 X7k 4 0. 80
#h ) P I% 3 HE 0.50
# ) P 3 5K 0. 80
k! LR 3 g 0. 40
)4 P 3 XA [ 0. 50
7 4 P 3% 3 XifEgE 0.90
B PiI% 3 IR 2.80
# ) P 3 o E R 0.90
k! LR 3 L i 0. 80
)4 P I% 3 WEE 1.80
R4 P51 3 I HE 0. 50
R4 P 3 FR= 0.39
# P 3 Uk 0. 60
k! LR 3 i 0. 50
4 P 3 JH R4 0. 70
7 4 PiDI% 3 =] 2.20
B PiI% 3 VAR 0. 60
B P 3 Es 0. 40
# ) 75 5 1% 3 o 0. 40
) 4 P 3 YK 0. 70
#h ) P 3 XA 1. 00
R4 T 3 A 0.50
# ) P 3 Hif K 0.70
k! 75 5 1% 3 WAL 0. 50
# ) P 3 T, 2 H 1.80
#h ) PiDI% 3 L HHAR 1.50
#h ) P I% 3 EENE 1. 00
# P 3 =N 0. 60
k! LR 3 R 4 1.00
4 P 3 ik 0. 70
) B P 3 JA%R 0.30
#h ) P I% 3 L iR 0. 60
# ) P 3 O E 1.10
) 75 5 1% 3 538 1. 00
)4 P 3 SER 0.39
7 4 73 3 JE 5 1.60
B P I% 3 XK AR 1.00
# P 3 L 1.10
k! 3% 3 R 1.90
) 4 P 3 R T 1.00




#h ) PiDI% 3 ki 0.90
# ) PiI% 3 XK FE 1.50
) 4 P 3 R 1.00
B E 4 LR 3 TR 0. 60
#h ) P 3 S 0. 80
) B P 4 ikt 1.20
#o ) PiI% 4 o 1. 00
# ) P 4 LR 2.30
# ) B 75 5 1% 4 L 1. 00
4 P 4 g 1.00
R4 P % 4 Vg 1.20
#h ) P I% 4 ikt 1. 40
B P 4 it 2.50
k! LR 4 7K F] 1.00
R E 4 P 3% 4 I A BH 0.90
) B 76 3% 4 VS 1.60
#h ) P I% 4 07 1. 00
# ) P 4 DR 1. 00
k! LR 4 vk 1.00
# ) P 4 o5 1.30
# 7 4 P I% 4 AR 1.10
#h ) P I% 4 e 1.40
# ) P 4 O 1.70
k! LR 4 L pdg 3. 00
)4 P 4 LItk 1.20
7 4 PiDI% 4 55 0.70
# ) PiI% 4 i) 2.00
# ) P 4 VO ST 0.90
k! LR 4 ik 1.00
)4 P 4 KA 2. 90
7 4 PiDI% 4 o 2.00
# ) PiI% 4 O 1. 00
Gk P 4 Bz 1. 00
) 75 5 1% 4 YN 2. 60
4 P 4 YELi 1.00
7 4 PiDI% 4 o2 1.50
R4 P 4 A H 1.10
# P 4 L 1. 00
k! 75 5 1% 4 TRARARS 2. 00
#h ) P 4 e 2.30
7 4 P 4 A Kk 0.50
#o ) P I% 4 EHFF 1. 40
# ) P 4 eSS 1. 00
# ) 75 5 1% 4 K 1. 00
) 4 P 4 kA 1.40
7 4 73 4 kK 2.20
#h ) P I% 4 I 1 1. 00
B P 4 HFE4e 1.30
k! LR 4 e 1.00
R E 4 P 3% 4 T RE 2.00
#h ) PiDI% 4 L 0.70
B P I% 4 L 0.70
# ) P 4 oA 2.00
) 75 5 1% 4 e 1.90
)4 P 4 Sk 1.20
#h ) PiDI% 4 T 1.10
#h ) P I% 4 ot 0.40
B P 4 tall 1.00
k! 75 5 1% 4 KR 1.90
R4 P % 4 oits 2.40




7 4 73 4 P 1.20
R4 P 4 gERIA 1.20
4 P73 4 =4 2.00
B E 4 P 4 N 3.40
#h ) P 4 e 1.20
7 4 P 4 e 2. 30
B PiI% 4 KFAT 2.00
Gk P 4 FIRh 1. 40
R E 4 P 4 s 0.70
4 P 4 K JEN 1.70
#h ) 73 4 eSS 1. 30
o 4 73 4 g 1. 00
4 i3 4 ik 0.50
k! LR 4 iR 0. 50
4 P 4 R 0. 50
) B P 4 KIE 2.20
#h ) P 3% 4 RIS 1.50
o 4t i3 4 P 1.50
) 75 5 1% 4 L 1. 00
# ) P 4 DR 0.70
Ho ) P73 4 I 4k 2 1.00
o 4 73 4 A 1. 40
o 4t i3 4 KeE 1.60
) 75 5 1% 4 ot 1.20
# ) P I% 4 eSS 1.00
7 4 PiDI% 4 A g 1. 80
o 4 P 3% 5 i KR 1.70
o 4t i3 5 TN 3.40
k! LR 5 ks 1.60
R E 4 P 3% 5 RET 1.60
#h ) P 3% 5 TR 2. 20
o 4 P 3% 5 LN 1.80
s 4 i3 5 [N 1. 00
k! LR 5 TR AR 2. 60
#h ) P I% 5 AHE 0. 50
7 4 PiDI% 5 Y 1.00
o 4 73 5 Ik o2k 1.00
s 4 i3 5 oy 1.70
B E 4 P 5 FF I 0.50
#h ) P 5 0 1.00
) B P 5 s 1.70
o 4 P 3% 5 T 3 4.20
# ) P 3% 5 ks 2.00
# ) 75 5 1% 5 JRAER 0.70
R E 4 P 3% 5 HHE 1.70
) B P 5 BENE 1.80
#h ) 73 5 Y EIE 1. 50
4 i3 5 0% 1. 00
H ) 75 5 1% 5 BUE 1.20
R E 4 P 3% 5 JUECPNN 1.00
) B P 5 KR 1.00
R4 T 5 Lk e 2.50
o 4 i3 5 AL 1.92
) 75 5 1% 5 o8 0. 50
# ) P 5 ENE 1. 00
#h ) 73 5 BAZE 1.50
o 4 73 5 .08 1.20
B P 5 544 1.50
k! 75 5 1% 5 KT 1.20
# ) P 5 I {7k 2. 50




7 4 PiDI% 5 I pi 4k 1.50
B PiI% 5 BER 0.90
) 4 P 5 i 0.51
B E 4 P 5 I 4k 0.80
) 4 P 5 JEENI 1.80
7 4 P 5 L 1.50
#o ) PiI% 5 k% 0. 60
# ) P 5 oitA 1.70
# ) B 75 5 1% 5 o P 3.00
# ) P 5 NSRS 1. 00
#h ) PiDI% 5 X B3 2.90
B P I% 5 EE 1.20
Gk P 5 BN 1. 00
k! LR 5 bzl 2.10
R E 4 P 3% 5 I fite 2.90
7 4 P I% 5 25— 1. 00
#h ) P I% 5 ko 1. 00
# ) P 5 SRR 1.50
k! 75 5 1% 5 It 2. 00
# ) P 5 O fl % 4.00
Ho ) P I% 5 BEE 2.70
#h ) P I% 5 EZir 1.90
Gk P 5 o 1.30
) 75 5 1% 5 O 1. 00
# ) i3 5 TRTIT 3.40
B P 5 EAE 2.70
# ) PiI% 5 ksl 2.00
# ) P 5 Ll 1.60
) 75 5 1% 5 I 4iE 1.50
#h ) P I% 5 JE AL 0.70
#h ) PiDI% 5 g 2.00
# ) PiI% 5 LA 0. 60
B P 5 LR 1.20
) 75 5 1% 5 5Kk 1. 00
4 P 5 XFALE 1.30
7 4 74 41 5 TR 2.00
# ) PiI% 5 B 0.70
# P 5 FEEZ4 1. 00
# ) 75 5 1% 5 BB 0.70
#h ) P 5 EW 3. 60
7 4 P 3% 5 Ik g 1. 00
#o ) P I% 5 O 1. 00
# ) P 5 BREA 0.50
# ) 75 5 1% 5 Bkt 1. 00
R E 4 P 3% 5 JEig 0.70
#h ) PiDI% 5 LAE 2.20
R4 P 5 Ll — 1.20
# P 5 L5 1. 00
k! LR 5 KNI 2.00
#h ) P 5 SN 0.50
#h ) PiDI% 5 O 2.10
#h ) P I% 5 Lz 1.50
# ) P 5 FHB 2.90
) 75 5 1% 5 JEEE s 1.80
)4 P 5 Rk 3. 20
#h ) PiDI% 5 AR 1.70
#h ) P I% 5 L 1. 00
# P 5 3 2.00
H ) 75 5 1% 5 g 2.70
R4 P 5 BEIR 2.00




#h ) PiDI% 5 1 JE - 3.70
R4 P 5 EF 1.00
) 4 P 5 5 L 1.00
# ) 75 5 1% 5 N 0.50
#h ) P 5 o7 1.30
7 4 P 5 R 1.50
#o ) PiI% 5 R 1.28
# ) P 5 sl 2.30
k! LR 5 L gk 2. 70
4 P 5 pacR 5. 90
#h ) PiDI% 5 P 0.50
B P I% 5 WS 1. 00
B P 5 PN 1.00
H ) 75 5 1% 5 HETT 0. 60
#h ) P 5 0 fl e 1.50
) B P 5 HERE 1.50
B P I% 5 Jui 1.90
4 P 5 HEREK 1.00
k! LR 5 HEA 2. 00
)4 P 5 BEE 0. 90
Ho ) P I% 5 JESEZE 0.70
#h ) P I% 5 EER 2.00
# ) P 5 gtk 1.20
) 75 5 1% 5 {5 2.70
# ) P I% 5 AT 1. 40
7 4 PiDI% 5 g 1. 80
# ) PiI% 5 FRAR IR 1.70
# ) P 5 AL 2.00
k! 75 5 1% 5 B 1.50
)4 P 5 F AT 2. 00
#h ) PiDI% 5 Ly 1. 00
# ) PiI% 5 THiE 3.10
Gk P 5 EEA0 1. 00
) 75 5 1% 5 T Hih 1.50
4 P I% 5 ARV 0. 50
) B P 5 KPR % 1.00
# ) PiI% 5 bR 0.50
# P 6 TR 3. 60
# ) 75 5 1% 6 S E 2.50
) 4 P 6 e RizE A 1.00
#h ) P 6 AR A 1.50
#o ) P I% 6 L Y 1. 00
# ) P 6 o 2.10
k! LR 6 LR Ag 4.20
# ) P 6 HEZ 3.00
7 4 PiDI% 6 o= 2.00
R4 P 6 N 3.00
Gk P 6 I g 1. 00
H ) 75 5 1% 6 I fisi 1.20
#h ) P 6 I 1.90
#h ) PiDI% 6 EEES 1. 00
#h ) P I% 6 oA+ 1. 00
# ) P 6 & 1.50
k! 75 5 1% 6 Lt 0. 50
# ) P 6 SR 1. 00
R4 P51 6 VR 1.60
#h ) P I% 6 5 1.50
# P 6 I 1.60
k! 75 5 1% 6 gKEAE 2. 00
R4 P % 6 EER 1.00




#h ) 76 3% 6 % 1.60
B 76 3% 6 R 2. 30
) P 3% 6 HE At 1.30
gk 75 3% 6 OHF 1.00
A 75 53 6 iR 1. 00
B 76 3% 6 04 H 2. 30
B 76 3% 6 KE= 1.10
) P 3% 6 =l 0. 80
B 75 3% 6 A 2. 00
w4 P12 6 551 0. 80
#h ) P 1% 6 HELNE 1.00
B 76 D% 6 oy 1.60
) P 3% 6 I Fg 1.50
Hom P 3% 6 pSiiEa 1. 00
Hom) 4 P12 6 ERE 1.80
#h ) 76 3% 6 % E 2. 00
B 76 3% 6 k5t 1. 00
A P 6 AR 1. 00
Hom 4 73 6 IR 1. 40
w4 5 3% 6 g 1. 00
Ho ) 76 3% 6 Wiutg 4,20
B 76 3% 6 R 1.00
) P 3% 6 Syt 2. 00
Hom 4 73 6 I RAE 2.00
B 5 3% 6 Ok 1.80
Hm P12 6 S 1. 00
B 76 3% 6 oAk 4,00
) P 3% 6 WH 2.90
gk 75 3% 6 SRR 1.50
B 5 3% 6 KE%E 0. 50
B 76 3% 6 f>a 1.00
B 76 3% 6 LR 2. 00
) P 3% 6 o 2.90
gk 75 3% 6 T hijte 1.00
B 5 3% 6 i % 1.10
B 76 3% 6 FE® 2. 30
B 76 3% 6 Oyt 1.00
) P 3% 6 AW % 3. 00
gk 75 3% 6 i [ 0. 90
Hom) 4 5 3% 6 B 1.50
B 76 3% 6 gk 1.00
B4 76 3% 6 T 7.86
) P 3% 6 s 1.60
Hom 4 P 3% 6 g 1.50
B 5 3% 6 BRI 1.50
B 76 3% 6 LK g 1.00
B 76 D% 6 izt 1.60
) P 3% 6 i 2. 30
B 75 3% 6 A= 1.00
Hom) 4 P12 6 L 1. 00
B 76 3% 6 vk 2. 30
B 76 3% 6 OIEAR 3. 00
) P 3% 6 SN 1.00
ik 76 53 6 =5 0.70
B 5 3% 6 YT 1.30
#h ) 76 3% 6 % 2. 60
B 76 D% 6 [ 3% 3. 00
w4 P 3% 6 ks 2. 50
Hom 75 3% 6 =yl 1.20
B 5 3% 6 T 1.50




B 76 3% 6 IhHE R 2. 00
B 76 3% 6 Y] 1.50
) P 3% 6 e 1.00
gk 75 3% 6 WIu A 2. 00
Hom) 4 P12 6 = 1. 00
#h ) 76 3% 6 L 1.60
B 76 3% 6 oA 2. 40
Hm) 4 P 3% 6 FERGE 3. 00
B 75 3% 6 A 1 2. 80
B 5 3% 6 I 3 i 1.00
B 76 3% 6 W EH 0. 70
B 76 D% 6 JESET 1.00
) P 3% 6 HH 0. 90
Hom P 3% 6 =Y iES 1. 00
Hom) 4 P12 7 % 2.20
gk 76 3% 7 e 1.20
B 76 3% 7 g 1.70
) P 3% 7 =P 1.00
ik 73 7 Ryt JE 1.20
ik 75 53 7 - 1. 10
Ho ) 76 3% 7 ZETR)| 2. 80
B 76 3% 7 el 1.00
) P 3% 7 i 4. 70
ik 76 53 7 VG EAN 1. 50
ik 75 53 7 TESE 1. 00
B 75 3% 7 o 2. 00
B 76 3% 7 o5 4. 80
) P 3% 7 i 1.00
Hom 4 73 7 i 0. 50
B 5 3% 7 T ) 2. 00
Hm P51 7 Bt 2.00
B 76 3% 7 5l 1.00
) P 3% 7 I 1.50
Hom) 4 73 7 s 1. 00
B 5 3% 7 OHE 1.40
#h ) 76 3% 7 T 5% i 1.00
Hm 4 76 3% 7 e 2.00
) P 3% 7 I, 2.21
gk 75 3% 7 o5E 1.60
Hom) 4 P12 7 =T 1. 40
B 76 3% 7 RIS 1.00
B4 76 3% 7 ik 1.00
) P 3% 7 I 5 0. 70
ik 76 53 7 EEA 1. 00
B 5 3% 7 DR 0. 70
#h ) 76 3% 7 = 1.00
A P51 7 YT 0. 50
w4 P 3% 7 Lkt 2.00
B 75 5 1% 7 kR 1.50
B 5 3% 7 =3 0. 60
#h ) 76 3% 7 g% 0. 70
B 76 3% 7 = 2.70
) P 3% 7 I 7 2. 40
B 75 3% 7 Ly 1.50
w4 P12 7 s 1. 40
B 76 3% 7 I 54 0. 80
Al P 7 AR EE 1. 10
) P 3% 7 B X 1.10
B 75 3% 7 S5 0. 70
ik 75 53 7 =) A 2.00




#h ) 76 3% 7 ok 2. 20
B 76 3% 7 ey 1. 40
) P 3% 7 et 1.10
gk 75 3% 7 T 4 2. 00
A 75 53 7 e B 1. 00
#h ) 76 3% 7 o5 1.00
B 76 3% 7 i [ 1.50
) P 3% 7 O 1.00
B 75 3% 7 I HE N 1.20
A 75 53 7 e 2. 40
HE P51 7 O 3. 00
B 76 D% 7 ekt 2. 50
) P 3% 7 eyl 1.20
Hom P 3% 7 HF 1.30
B 5 3% 7 O % 1.10
gk 76 3% 7 LA 1. 00
B 76 3% 7 et 1.20
) P 3% 7 o 1.70
B 75 3% 7 L PEAH 1.00
ik 75 53 7 TESE 1. 50
B 76 3% 7 I [ I 1.00
Hm 4 76 3% 7 Elfia 2.30
) P 3% 7 T 7 i 1.00
B 75 3% 7 27RO 1.90
B 5 3% 7 I i 3. 50
#h ) 75 3% 7 kg 2. 00
ks P51 7 & 0.70
) P 3% 7 0 i 0. 60
ik 73 7 R 1. 00
Hom) 4 P12 7 AT 0. 50
B 76 3% 7 =% 1.20
B 76 3% 7 R 1.20
) P 3% 7 Ak 0. 40
Hom) 4 73 7 B HJR 1. 00
B 5 3% 7 ok ik 4.90
#h ) 76 3% 7 kb 1.00
Hm 4 76 3% 7 O 0.70
) P 3% 7 ek 2. 50
gk 75 3% 7 25K Ik 0. 50
B 5 3% 7 2> 1.00
ik 75 53 7 PN 4. 00
B4 76 3% 7 X R 0. 50
) P 3% 7 OeEE 1.50
B 75 3% 7 O 1.00
w4 P12 7 AR 1. 00
Hm P51 7 BTN 1.30
B 76 D% 7 4 1.00
w4 P 3% 8 KA Z 0. 80
B 75 3% 8 Ozl 2. 00
Hom) 4 P12 8 I Al 1. 00
w4 76 3% 8 Yotk 1. 00
B 76 3% 8 LEE 2. 50
) P 3% 8 A pRAE 1.00
B 75 3% 8 G| 1.50
w4 P12 8 g 2.20
#h ) 76 3% 8 Y=l 1.80
Hm 4 76 D% 8 g4 1. 00
) P 3% 8 B 0. 80
ik 76 53 8 £ EE 0. 50
w4 P12 8 IEES 2.50




B 76 3% 8 o FiR 1.10
Hm 4 76 3% 8 WER 1.35
) P 3% 8 oz 0. 50
gk 75 3% 8 WAL 2. 50
B 5 3% 8 5 1.00
B 76 3% 8 [y yea 3. 60
w4 76 3% 8 E 1.30
) P 3% 8 L 3. 70
Hom) 4 P 3% 8 LER 1.30
B 5 3% 8 TP 3. 10
#h ) 76 3% 8 S 4,30
B 76 D% 8 iR} 2. 40
) P 3% 8 IRE 1.00
B 75 3% 8 O AE 1.00
B 5 3% 8 =] 1.20
gk 76 3% 8 0% 1.00
Hm 4 76 3% 8 =T 1.70
A P 8 ] 1. 00
ik 76 53 8 Oz 0.70
B 5 3% 8 FEAHTT 1.00
B 76 3% 8 04 H 1.10
B 76 3% 8 =N 2. 40
) P 3% 8 O 0. 50
B 75 3% 8 DA 1.30
B 5 3% 8 o7 1.00
#h ) 75 3% 8 TR 0. 50
B 76 3% 8 Mg 0. 70
) P 3% 8 IS 1.50
gk 75 3% 8 DR 2. 30
Hom) 4 P12 8 TR 2.50
#h ) 76 3% 8 O EAE 0. 70
B 76 3% 8 Ih I f 1.00
) P 3% 8 [P 2. 50
gk 75 3% 8 D% 1.00
Hom) 4 P12 8 B 1. 00
B 76 3% 8 AL 3. 50
B 76 3% 8 SRAFE 4,30
) P 3% 8 T A 1.60
ik 76 53 8 2 1.70
Hom) 4 P12 8 k7 2. 40
#h ) 76 3% 8 RR 0. 80
Hm 4 76 3% 8 LR 2.00
) P 3% 8 =3 1.00
Hom 4 75 3% 8 TKFET 2.50
A 75 53 8 = E 1. 00
#h ) 76 3% 8 O 0. 50
B 76 D% 8 LA E 1.30
w4 P 3% 8 WA 1.00
Hom 73 8 L ) 1] 2.10
B 5 3% 8 gl 1.80
ik 75 53 8 AL 1. 00
B 76 3% 8 1FE%E 2. 40
) P 3% 8 VR 3 0. 50
ik P 3% 8 YL 1.20
B 5 3% 8 & 0. 50
#h ) 76 3% 8 R 2. 60
Hm 4 76 D% 8 Y ER 0. 50
) P 3% 8 el 1.00
Hom 73 8 =i 1.10
B 5 3% 8 =y 0. 50




7 4 PiDI% 8 gk 1. 40
# ) PiI% 8 I 1.80
# P 8 ER 2.00
k! LR 8 EI) 1.00
) 4 P 8 EEE7 3. 50
#h ) P 8 A 1. 80
#o ) PiI% 8 oA ke 1.20
# ) P 8 f=a 0. 60
# ) B 75 5 1% 8 T 1.20
4 P 8 LR 1.70
7 4 PiDI% 8 0% 0.70
#h ) P I% 8 I ] 0.70
# P 8 O 0.50
H ) 75 5 1% 8 TITAr 1. 00
R E 4 P 8 TU%E 1.30
7 4 P I% 8 EE 1. 30
#h ) P I% 8 L 1. 00
4 P 8 Ltk 3.00
) 75 5 1% 8 o 1.00
R E 4 P % 8 1 1.00
Ho ) P I% 8 ks 4.50
#h ) P I% 8 W 1.40
# ) P 8 Ot 1. 00
) 75 5 1% 8 R 1.50
# ) P I% 8 5| 1. 40
7 4 PiDI% 8 5y 2.90
R4 P 8 E 3 1.50
# ) P 8 Vb 1.10
k! LR 8 i 0. 50
#h ) P I% 8 SEE 1.30
7 4 PiDI% 8 BE G 1.00
# ) PiI% 8 O 1. 00
Gk P 8 Lk 1.20
k! LR 8 SR 1.00
#h ) P I% 8 2 Ti 1.00
7 4 PiDI% 8 o 2. 20
R4 P 8 kg 0.80
# P 8 =151 1. 00
k! LR 8 Hsett 0. 80
#h ) P 8 I3 1.10
7 4 P 8 o g 3. 30
#o ) P I% 8 Y 1. 00
B P 8 MEKE 0.50
# ) 75 5 1% 8 HEHE 1.50
) 4 P 8 it 1.80
7 4 PiDI% 8 O 0.70
#h ) P I% 8 B 1.35
# P 8 A% 2.40
H ) 75 5 1% 8 Eineg 1. 00
#h ) P 8 L F} 3.10
7 4 PiDI% 8 R 1. 00
B P I% 8 L pg)m 1.00
# ) P 9 fEEAE 2.20
) 75 5 1% 9 o5 0. 60
# ) P 9 I ] 0. 60
7 4 PiDI% 9 5 0.70
#h ) P I% 9 B 1. 00
# P 9 iE s 2.00
H ) 75 5 1% 9 4L 2.10
) 4 P 9 st 2. 00




#h ) PiDI% 9 PG R 1.40
# ) PiI% 9 ik 0.50
4 P 9 HER 1. 60
k! LR 9 L P 1.70
#h ) P 9 =K 2.80
7 4 P 9 EIive] 1. 00
#o ) PiI% 9 I 0.70
# ) P 9 A 2.40
k! LR 9 T 1.00
# ) P 9 )ik 0.50
7 4 PiDI% 9 i 1.50
#h ) P I% 9 O IERE 1.50
# P 9 O 0.50
H ) 75 5 1% 9 T 1. 00
R E 4 P 3% 9 Lo ng 0.70
7 4 P I% 9 I e b 1.40
#h ) P I% 9 5kt 1. 00
# ) P 9 iiped 3.70
) 75 5 1% 9 Ik 1. 00
# ) P 9 ook 2.30
Ho ) P I% 9 ] 1. 00
#h ) P I% 9 I 1.50
# ) P 9 HE R 0.70
k! LR 9 L 0. 60
# ) P I% 9 o 1. 00
#h ) PiDI% 9 LS 1.70
# ) PiI% 9 ETERES 1. 00
# ) P 9 47 1. 00
) 75 5 1% 9 AL E 1. 00
#h ) P I% 9 1] 1.20
#h ) PiDI% 9 gz 1.10
# ) PiI% 9 Ot 1. 00
# P 9 LEE Y| 1. 00
k! LR 9 TN 1.20
R E 4 P 9 ZEIRHE 1.60
#h ) PiDI% 9 [ 7 1. 00
# ) PiI% 9 g 5% 1. 00
# P 9 O 1. 00
# ) 75 5 1% 9 =7 1.50
#h ) P 9 e 1. 00
#h ) P 9 i 0.50
#o ) P I% 9 o 1. 00
# ) P 9 25 1.50
# ) 75 5 1% 9 L 1. 00
# ) P 9 DL 2.00
#h ) PiDI% 9 1 7 b 3.40
#h ) P I% 9 o 0. 60
# P 9 BifE 1. 00
k! LR 9 T 1.40
#h ) P 9 R 3.10
#h ) PiDI% 9 eI 1.70
#h ) P I% 9 i 0. 40
# ) P 9 R 1. 00
) 75 5 1% 9 OHEA 0. 60
# ) P 9 L 2.10
7 4 PiDI% 9 5 1. 00
#h ) P I% 9 L s 1. 00
Gk P 9 ey 1. 00
H ) 76 D% 9 4T 3.30
# ) P 9 07 2.30




Hm P Ly 3% 9 VWEEZ 1. 60
B P 1% 9 =i 1.00
) P D% 9 =55 1.00
Hom 73 9 =S 1.30
Hom) 4 P12 9 HF 0.70
B 76 3% 9 1 puii 3. 70
B 76 3% 9 =ye) 1. 50
) P D1 9 akEAE 1.50
B 75 3% 9 & 1.50
B 5 3% 9 =R 3. 10
HE P51 9 =T 2.50
B P 1% 9 IR 1.00
) P D1 10 376 0. 70
Hom P 3% 10 X Z 1. 00
B 5 3% 10 0K 1.00
#h ) 76 3% 10 i 1. 00
B 7 1% 10 A Y 4,90
) P D% 10 s 2. 30
B 75 3% 10 S 1. 00
B 5 3% 10 o R 1.70
B 76 3% 10 Oy 1.00
B 76 3% 10 oy 3. 00
Hm 4 P 3% 10 BN 2.00
B 75 3% 10 K EE 1.00
B 5 3% 10 M 1.70
B 75 3% 10 k4 1.00
B 76 3% 10 e 1. 00
) P D% 10 X S 1.80
Hom 4 73 10 i 1.10
Hom) 4 P12 10 5 1. 00
B 76 3% 10 i 0. 60
B 76 3% 10 =545 1. 00
) P D1 10 I HF 1.80
Hom) 4 73 10 AR 1. 00
Hom) 4 P12 10 vl 1.20
B 76 3% 10 =31 1. 40
B 76 3% 10 g 1. 00
) P D1 10 O5EE 1.20
gk 76 T 1% 10 X FKk 1.20
A 75 53 10 =i 0.70
w4 P12 10 ekt 2. 00
ks P51 10 FRFE AL 1. 00
) P D1 10 =N 2. 00
ik 76 53 10 EES 1.20
B 5 3% 10 i 1.60
B 76 3% 10 I 0. 60
A P51 10 YO E 1.20
w4 P 3% 10 SN 2.00
B 75 3% 10 g 1.10
B 5 3% 10 % 1.40
ik 75 53 10 ] 1. 00
B 76 3% 10 e 3L 1. 00
) P D1 10 Bl 1.50
ik 76 53 10 SR 1.50
w4 P12 10 SN 2. 50
B 76 3% 10 e 1.00
Hm 4 76 D% 10 b 4,10
) P D1 10 O HHE 2. 00
Hom 73 10 5w 2. 40
B 5 3% 10 i 2. 00




) B P 10 s 1.20
# ) PiI% 10 05k 1. 00
# P 10 FAHE 2.10
B E 4 P 10 S5 2.10
R E 4 P % 10 T 0.50
A4 P i% 10 LA 1. 40
R4 P 10 & 1.50
# ) P 10 T 1. 00
# ) B 75 5 1% 10 X% 1. 00
4 P 10 Al 1.00
7 4 PiDI% 10 05 1.50
#h ) P I% 10 k4 2.00
B P 10 S E 0.70
H ) 75 5 1% 10 oK E 1.80
4 P 10 Lk 1.00
7 4 P I% 10 258 1. 00
#h ) P I% 10 5 1.20
# ) P 10 O IEAR 3.30
k! LR 10 R 1.00
)4 P 10 A 3. 30
Ho ) P I% 10 g 3.40
#h ) P I% 10 5 ) 2.70
# ) P 10 I 1. 00
k! LR 10 Elya7 1.00
# ) P I% 10 ok E 1.90
7 4 PiDI% 10 A 0.90
# ) PiI% 10 RN 1.50
# ) P 10 ok 1. 00
B E 4 P 10 = A 4.10
)4 P 10 i 1.00
) B P 10 L E 2.20
# ) PiI% 10 R 1. 00
# P 10 R 1. 80
B E 4 P 10 B3 0.70
4 P 10 o 2. 40
7 4 PiDI% 10 PR 3.10
# ) PiI% 10 0 1.70
Gk P 10 TR 2.00
# ) 75 5 1% 10 I fisi 0. 80
#h ) P 10 AT 3.10
) B P 10 e 1.80
#o ) P I% 10 AR 1.20
# ) P 10 =] 4k FE 3.10
# ) 75 5 1% 10 HRHE 0. 80
# ) P 10 R 1.80
#h ) PiDI% 10 LR 1.90
#h ) P I% 10 s 1.10
# P 10 5 1. 80
H ) 75 5 1% 10 OIS 1. 40
#h ) P 10 oH 1.10
#h ) PiDI% 10 OIEE 2.35
#h ) P I% 10 RN 1.50
# ) P 10 o 7KAE 1. 00
k! LR 10 ek 1.50
# ) P 10 T HE 3.25
7 4 PiDI% 10 I k38 1.70
#h ) P I% 10 LS 2.00
Gk P 10 L 6. 20
H ) 75 5 1% 10 OIER 2.30
R4 P % 10 L 2.70




#h ) 76 3% 11 157 1. 40
B 76 3% 11 7k E 2. 00
) P 3% 11 I B 1.50
gk 75 3% 11 o isgEd] 3. 00
A 75 53 11 oEY 1. 00
#h ) 76 3% 11 T BT 1. 40
w4 76 3% 11 I 3. 00
Hm) 4 P 3% 11 DAY 1.10
B 75 3% 11 O 1.00
w4 P12 11 B E 3. 40
B 76 3% 11 FKZ I 4,80
Hm 4 76 D% 11 A5 B 4 1.00
) P 3% 11 g 1.00
B 75 3% 11 Ok 2. 00
A 75 53 11 I 7k )i 1. 00
HE P50 11 MEZ 2.90
B 76 3% 11 e 1.50
Hm 4 P 3% 11 VIt 2.00
B 76 T 1% 11 i 1. 60
w4 P12 11 V] 0.70
B 76 3% 11 IR 1.90
B 76 3% 11 ) 1.00
) P 3% 11 ete 0. 90
B 75 3% 11 I ik 1.00
w4 P12 11 RS 2.00
B 75 3% 11 I p i 3. 20
B 76 3% 11 e 1. 40
) P 3% 11 NGl 3. 50
gk 75 3% 11 O =fk 1.00
B 5 3% 11 oz 1.20
B 76 3% 11 o [W@35 1.20
B 76 3% 11 T Ja 0. 80
) P 3% 11 ik 1.70
gk 75 3% 11 T 1.10
Hom) 4 P12 11 A 1. 00
B 76 3% 11 EIeas 2.70
B 76 3% 11 ST 1.10
ik P 3% 11 GE:S 1. 40
gk 75 3% 11 I 5% 2. 80
A 75 53 11 = 1. 20
ik 75 53 11 Ei 1. 00
B4 76 3% 11 OFR 1.70
A P 11 OEE 1.20
B 75 3% 11 BEA 1.00
A 75 53 11 4 2.00
#h ) 76 3% 11 o= 0. 50
A P51 11 gk 1.40
A P 11 OER 1. 00
B 75 3% 11 =g 1.00
B 5 3% 11 L FF 1.10
ik 75 53 11 i 3. 60
Hm 4 76 3% 11 VoHR 2.20
) P 3% 11 o 1.00
Hom 4 P 3% 11 5 1. 00
B 5 3% 11 Eays) 1.20
B 76 3% 11 Ly ihic 1.00
B 76 D% 11 Oz 1.95
) P 3% 11 ik WA 1.20
B 75 3% 11 & 1.95
w4 P12 11 L 1. 00




#h ) 76 3% 11 B 1.20
B 76 3% 11 g 1.80
) P 3% 11 p=y:s 0. 90
gk 75 3% 11 OyT % 1.00
B 5 3% 11 0k By 1.00
B 76 3% 11 Ih I AR 3. 00
w4 76 3% 11 L 1. 00
) P 3% 11 I Ak 2. 00
R E 76 53 11 R 5. 47
B 5 3% 11 o EE 2. 00
B 76 3% 11 Er i 1.90
B 76 D% 11 = 1.00
) P 3% 11 I 2. 40
B 75 3% 11 T 4 i 3. 90
B 5 3% 11 ot 2. 00
#h ) 76 3% 11 O 0. 90
B 76 3% 11 I I ) 2. 40
) P 3% 11 g 1.20
B 75 3% 11 St 2. 00
B 5 3% 11 5y 1.00
ik 75 53 11 i 1. 50
B 76 3% 11 Ot 3. 50
) P 3% 11 LK 2. 50
B 75 3% 11 O % 3. 20
B 5 3% 11 k& 1.50
B 75 3% 11 I [ A 3. 60
B 76 3% 11 o5 1.00
) P 3% 11 A 1.10
ik 76 53 11 HEE 1. 00
Hom) 4 P12 11 oo 1.30
B 76 3% 11 IhIERK 0. 80
B 76 3% 11 I [ 1.00
) P 3% 11 WEE 1.40
Hom) 4 73 11 % 1. 40
B 5 3% 11 e 2. 00
Hm P51 11 P 0.70
B 76 3% 11 R 1.00
) P 3% 11 Ik 1.00
Hom 75 3% 12 pENE 0.35
B 5 3% 12 FIAE 1.10
w4 P12 12 LB 1.00
ks P51 12 o= 1. 10
) P 3% 12 LY e 2. 60
Hom 4 P 3% 12 BRI 1.70
w4 P12 12 PNk 1. 00
Hm P51 12 ESnil 4,00
A P51 12 ME= 1. 10
) P 3% 12 B R 2. 50
Hom 73 12 YWEK 1. 00
Hom) 4 P12 12 Z=/Mil 1. 00
w4 P51 12 P U 1. 00
B 76 3% 12 S 2. 00
Hom 4 P 3% 12 ZEN 1.80
ik 76 53 12 PNEEE 1. 00
ik 75 53 12 ZFEFAN: 1.20
ik 75 53 12 PN 1. 00
B 76 D% 12 JEATH 0. 60
A P 12 %2 1. 00
ik 76 53 12 Bk A ik 1. 80
B 5 3% 12 F R 2. 50




7 4 PiDI% 12 BEREAE 2.00
B PiI% 12 K 1.50
4 P 12 Rl 2.00
B E 4 P 12 ZEytad 1.20
) 4 P 12 JE 75 1.00
#h ) P 12 B 1. 00
#o ) PiI% 12 B 1.50
B P 12 W4 0.50
# ) B 75 5 1% 12 ¥k 4 1.90
4 P 12 BELL 0. 80
) B P 12 Tt 1.00
#h ) P I% 12 2 1. 00
B P 12 R 1.60
H ) 75 5 1% 12 B LR 1. 40
#h ) P 12 FPE 1. 00
#h ) P I% 12 Lz 2.50
B P I% 12 2=tk 2.30
4 P 12 FNE R 1.20
) 75 5 1% 12 EERASi 1.30
)4 P 12 RN 1.30
Ho ) P I% 12 FEHE 0.70
#h ) P I% 12 BT 2.00
B P 12 F e 0.50
k! LR 12 X FAA 1.00
# ) P I% 12 g2 1.50
R4 P % 12 g E 0.50
# ) PiI% 12 i 28 1.30
# ) P 12 2 My 0.35
B E 4 P 12 ZEyt A 0.70
)4 P 12 FATL 1. 00
#h ) PiDI% 12 IREDI 2.30
B PiI% 12 HE PR A 3. 00
B P 12 X2 1.40
B E 4 P 12 R 0.50
#h ) P I% 12 gk 1. 00
#h ) PiDI% 12 F&E 2.00
# ) PiI% 12 BEREAE 1. 40
# P 12 oK E 1. 80
# ) 76 D% 12 75 H 0. 40
) 4 P 12 ZERIT 0.67
7 4 P 12 BEE 0. 60
#o ) P I% 12 FEL R 0.90
B P 12 A=k 3.30
k! LR 12 kAL 1.30
R E 4 P 3% 12 B & 1.60
) B P 12 H G BE 1.10
#h ) P I% 12 T IEHE 4. 40
# P 12 2SRk 2.00
k! LR 12 B RO 2. 80
R E 4 P 3% 12 FISCEES 1.50
#h ) PiDI% 12 F*E2 3.40
#h ) THig 1 FHPE 7.24
# ) Frik 1 [ Eh 2 4.27
B E 4 Frk 1 T2AL 1. 40
)4 Tk 1 FHFI 5.83
B Tk 1 TBA 2.00
R4 Tk 1 TRE 6. 00
Gk Tk 1 FIkfz 3.00
H ) Tk 1 Flkig 1. 00
R4 Frk 1 FIeAE 3.60




B Frk 1 FIAE 4,40
Hm 4 FHik 1 F o E 2.93
) Frik 1 FR Y 3. 30
Hom FHk 1 RBEE 3.70
A Frek 1 FAlEEK 5.10
#h ) Frik 1 FER{E 3. 50
B Frik 1 FEHN 1.20
A FHk 2 KR 3. 69
Hom) 4 FHk 2 R 3.07
A Frek 2 ZEAE L 2.72
HE FHk 2 TR EKGE 5.14
A FHEk 2 FRKHE 4.43
A FHk 2 gkt 4 0.72
B Frk 2 Z=Y 0.72
A Frek 2 R 1.09
gk Frik 2 LA 1.94
ks FHk 2 KA 1.94
Hm 4 FHik 2 FKR 1.94
ik FHk 2 FERE 1. 09
ik Frek 2 FR 1.50
Hom 4 FHk 2 BN 1.09
Al FHk 2 FKE 3. 94
) Frik 2 TR 1.09
B Frik 2 R 2. 30
w4 FHk 2 FREE 4,24
#h ) Frk 2 ¥ R 35 2. 00
Hm 4 FHik 2 FRAL 2.94
A FHk 2 AR 3. 50
gk Frik 2 XNE = 3. 50
Hom) 4 FHk 2 ExRiE 1.90
#h ) Frk 2 I Hg 0.54
B FHik 2 ZRIT 1.09
) Frik 2 A2k 3. 29
Hom) 4 FHk 2 FKH 2.50
Hom) 4 FHk 2 FIKE 1.00
B Frk 2 Fois 0. 60
B FHik 2 ] 3. 90
) Frik 2 2 g 5. 44
gk Frik 2 v 3. 60
#h ) Frik 2 WER 1.62
#h ) Frik 2 FHE 3. 96
B4 FHik 2 Bk 1.45
A FHk 2 FERLL 1. 09
B Frk 3 FHREE 2. 20
w4 FHk 3 FARH 4. 60
B Frk 3 5 i 1.20
A FHk 3 FEF 3. 50
) Frik 3 KHEH 4. 80
B Tk 3 FR % 2. 60
Hom) 4 FHk 3 FKAE 3.70
#h ) Frik 3 FILE 2. 10
ks FHk 3 TR 3. 50
) FHik 3 N 2. 60
Hom 4 FHEk 3 FE K 4,00
B Frik 3 Fidhpf 1.00
w4 FHk 3 FRE 3. 20
B Frik 3 FHLIE 4,10
) Frik 3 FR B 5. 60
B Frk 3 FILE 2. 30
ik Tk 3 FHifh R 2.70




A Tk 3 A R 1. 90
A FHk 3 FHTB 0. 80
A FHk 3 iz 1. 20
gk Frik 3 FEHE 2. 80
Hom) 4 FHk 3 ZERAL 3. 00
w4 JHk 3 g 4. 80
w4 Frik 3 FHE 2. 60
A FHk 3 BE4E 0. 42
R E FHk 3 BEE 1.20
w4 FHk 4 FIRE 1.80
#h ) Frk 4 F R 1. 40
B Frik 4 FEAF 2. 50
) Frik 4 FER 0. 20
Hom FHk 4 FIRR 2.39
A Frek 4 FER 7.50
gk Frik 4 Ik B 5% 0. 90
ks FHk 4 Foia 3. 80
) FHik 4 FET 0. 20
Hom 4 FHk 4 LR 2.20
B Frik 4 FHETK 1.90
Ho ) Frik 4 FEM 2. 20
Al FHk 4 F 1.14
Hm 4 Frik 4 FRE 2.00
Hom 4 FHk 4 F 8. 50
ik Frek 4 FHoE B 2.80
ik Tk 4 FHI= 2. 66
B FHik 4 A2 R 1.20
) Frik 4 FEZ 0. 50
gk Frik 4 FHE 0. 80
ik Frek 4 FHfF L 4. 00
#h ) Frk 4 FHRI 3. 90
B FHik 4 FFF} 6. 30
) Frik 4 FRA 1.90
gk Frik 4 FHEb I 8. 30
Hom) 4 FHk 4 FHF 5 1.10
Hm FHk 4 FRE 0. 30
A FHk 4 X2 5 5. 00
) Frik 4 FHEE 3. 80
gk Frik 4 Fri 3. 14
A Frek 4 FR= 1. 50
#h ) Frik 4 FFI 5. 80
B4 FHik 4 B 2. 20
) FHik 4 AR 1.50
ik FHk 4 FIER 2.00
A Tk 5 FrRE 3.50
#h ) Frk 5 Eif3 0. 08
A FHk 5 FEA 4. 00
) Frik 5 £ 1.92
Hom FHk 5 Faie 0. 49
A Frek 5 KEZ 3.00
#h ) Frik 5 FER I 0.53
B FHik 5 FHEPY 1.09
) FHik 5 FEEAD 0.77
ik FHk 5 1EEH 2.51
w4 FHk 5 FHZ 2.30
ik Tk 5 FFIH 3.53
B Frik 5 FId 8. 00
HF) FHk 5 A3 3.35
B Frk 5 FERED 2. 00
ik Tk 5 FHILH 9.37




A Tk 5 FHE T 1.81
B Tk 5 FIH 1.88
) Frik 5 FRER 4. 38
gk Frik 5 FFIE[) 0. 90
A Frek 5 FFIK 6.92
#h ) Frik 5 R 1.05
B Frik 5 FHE L 0.55
) FHik 5 FHEIT 8. 58
Hom) 4 FHk 5 FHMR 3.50
B Frik 5 FEEE 0. 70
A Tk 5 FRiz 3.10
B Tk 5 IK1G AR 0. 60
A FHk 5 F LBk 6. 44
B Frk 5 FHithi 2.71
Hom) 4 FHk 5 F R 4,53
#h ) Frik 5 FRAT 1. 50
Hm 4 FHik 5 FIEAS 1.20
Hm 4 FHik 6 SRR 1.45
B Frik 6 FE 0.63
# ) Frik 6 FHIIE 1.10
Hom 4 FHk 6 FRHE 2.21
Al FHk 6 Fk K 0. 62
) Frik 6 = 3. 17
B Frik 6 KRR 4.16
w4 FHk 6 Fiig 1.59
B Frk 6 FIkTE 1.93
B FHik 6 FF) L 0.72
A FHk 6 Fab YA 1.85
Hom 4 FHk 6 F IR 1.90
Hom) 4 FHk 6 EEES 1.52
Hm FHk 6 FHak 1.09
Hm 4 FHik 6 FRR 1.05
A FHk 6 YA 2 1.08
R E) FHk 6 Fio s 1.70
Hom) 4 FHk 6 FH= 1.82
B Frk 6 Frkd 2.42
Hm 4 FHik 6 RS 2.00
) Frik 6 B 0.87
Hom FHk 6 R 2.00
Hom) 4 FHk 6 Ee 3.17
ik Tk 6 FAT 7.00
B4 Tk 6 15 7 2.65
) FHik 6 FHIF 5. 14
Hom 4 FHEk 6 FoEHE 1.16
# ) Frik 6 FRie 2. 40
A Tk 6 HE= 2. 40
B Tk 6 52 A 1.69
) Frik 6 XA 1.08
Hom FHk 6 FHLA 1.62
B Tk 6 FH 52 % 3.98
#h ) Frik 6 FH|H 0.85
Hm 4 FHik 6 XN ZIE 1.57
) FHik 6 FAHS 0.63
Hom 4 FHEk 6 FFE 7.33
# ) Frik 6 FED 0.52
B Frik 6 F=nf 1.29
Hm 4 Frik 6 ZEIRAR 1.26
) Frik 6 WA 2. 00
Hom FHk 6 FKEKE 3.22
B Frik 6 FHk A 1.00




#h ) Frk 6 R 2. 20
Hm 4 FHik 6 XIESE 1.03
) Frik 6 F R 0.87
Hom FHk 6 FRRE 1.25
B Frik 7 FHHE 0. 10
B Frik 7 FKmtE 2.34
B Frik 7 AT 2.11
Hm) 4 FHik 7 PR 2.90
B Frk 7 IRER T 1.61
w4 FHk 7 BT 0. 60
A Tk 7 FifgE 0. 54
B Frik 7 EiGE S 0.35
A FHk 7 FHidhik 1. 80
Hom FHk 7 Fs 3. 60
A Frek 7 Fi H 2.74
#h ) Frik 7 FRYT 2.34
B FHik 7 FRM 1. 00
) FHik 7 FHIE % 0.91
Hom 4 FHk 7 ZER I 1.91
w4 FHk 7 BB 3.19
Ho ) Frik 7 R e 1.48
B Frik 7 F R 2. 30
) Frik 7 Rz 2. 10
Hom 4 FHk 7 KBz 4,24
w4 FHk 7 F AR 6. 04
B Frk 7 FHE IR 0. 50
ks FHk 7 Fib 0. 26
) Frik 7 EE 3.21
Hom 4 FHk 7 F itz 3.51
ik Frek 7 (RS 0.14
A Tk 7 F b 0. 27
B FHik 7 leirl 2. 00
) Frik 7 ESY] 0. 10
Hom) 4 FHk 7 FIKE 2.90
Hom) 4 FHk 7 KFHEE 6. 20
A Tk 7 FGER 2.63
A FHk 7 FeE 2.35
) Frik 7 FHIAR 0.15
ik FHk 7 FFL 3. 47
A Frek 7 WH 1.43
B Frik 7 FHith) 0.15
ks FHk 7 Fidb s 1. 50
A FHk 8 iy 9.23
ik FHk 8 MIGF 7.57
w4 FHk 8 JEZ T 8. 00
A Tk 8 FRVE R 7.00
A FHk 8 Fifgan 2.00
HF) FHk 8 HRA = 8. 50
ik FHk 8 SRS 1.17
A Frek 8 VG 1. 06
ik Tk 8 AT A 2.20
ks FHk 8 Elyiipa 2.23
) FHik 8 R H 6. 70
Hom 4 FHEk 8 ;TE 5.71
ik Frek 8 MIGE 2.99
#h ) Frik 8 5553 5.22
Hm 4 Frik 8 AT 2.84
) Frik 8 R 1.70
Hom FHk 8 RI5iE 3.93
w4 FHk 8 R 3. 80




B FHiE 8 Eis 2.
) Tk 8 EEiks 5.
Hom 4 Frik 8 IS 1.
Hom FHk 8 ATR 0.
B Frik 8 MR 4.
B Frik 8 I iTeN 4,
w4 Frik 8 WL 4,
7 4 FHiE 8 Eqi= 0.
Hom) 4 FHk 8 2TAE 2.
w4 FHk 8 E 1.
B FHiE 8 R B 4.
S Tk 8 AL 3.
w4 Frik 8 FRAE A 41.
B Frk 8 L 1.
B Frik 8 EIR 3.
gk Tk 8 FR i 0.
Hm 4 FHik 8 i 0.
Hm 4 FHik 8 g 4,
Hom 4 FHk 8 i 6.
w4 FHk 8 PRAE 4 4,
B TRk 8 AT 0.
S Tk 8 2L 0.
7 4 FHiE 9 FRA 4,
Hom 4 FHk 9 FHUE 3.
w4 FHk 9 VG 3.
#h ) Frk 9 A0t 7.
) Tk 9 ke 3.
7 4 FHiE 9 A2 R 2.
gk Frik 9 Fi 4.
#h ) Frk 9 FILR, 1.
B FHiE 9 Ik [F 5 3.
Hm 4 FHik 9 ERVE b 4,
7 4 TRk 9 FH L 2.
gk Frik 9 kit 1.
Hom) 4 FHk 9 FRATER 3.
#h ) Frk 9 K 1.
) Tk 9 TR R4 4.
ik Frik 9 kI 0.
Hom FHk 9 FRATHR 3.
Hom) 4 FHk 9 KRHE 5.
B FHiE 9 gk g 5.
) Tk 9 K Ry 2.
Hm) 4 FHik 9 KEIE 7.
Hom 4 FHEk 9 K2 4,
w4 FHk 9 RV 2.
#h ) FHiE 9 FHIEL 7.
Hm 4 FHik 9 TR0 0.
w4 Frik 9 [ S 0.
B Frik 9 % 4,
#h ) Frik 9 LESA 5.
B FHiE 9 gk 1.
) Tk 9 EE 7.
7 4 FHiE 9 KA 2.
B Frk 9 [ v 4.
w4 FHk 9 e 3.
B FHiE 9 AR 3.
S Tk 9 2 1.
7 4 TRk 9 R 0.
Hom FHk 9 i 3.
w4 FHk 10 7k 1k 2.




B Frk 10 BEE 1. 40
A FHk 10 ik 2 % 2.01
A FHk 10 [ &l 3. 20
gk Frik 10 FEIR 1.67
A Frek 10 FEHHR 4. 69
w4 JHk 10 Falziin 1.15
B Frik 10 g e 3.41
) FHik 10 [P 4. 925
Hom) 4 FHk 10 KRIT 1.97
w4 FHk 10 FIRRE 2.14
B Frk 10 EHH 1.17
A FHEk 10 FHIEFE 1.40
) Frik 10 s ped 1.75
Hom FHk 10 FRIE 1. 00
Hom) 4 FHk 10 FHE 2.50
gk Frik 10 KEE 8. 00
ks FHk 10 X SCHE 3.70
) FHik 10 & pREE 3. 00
Hom 4 FHk 10 FHES 1.70
w4 FHk 10 FIKL 1.50
Ho ) Frik 10 BT 3.53
B Frik 10 B 2. 60
A FHk 10 5 1. 50
Hom 4 FHk 10 FIKE 2. 60
w4 FHk 10 X 2.33
#h ) Frk 10 FER 1.39
ks FHk 10 [l 6.97
) Frik 10 2R R 0. 59
ik FHk 10 KPRz 1. 80
Hom) 4 FHk 10 FHIFE 0.35
A Tk 10 K= 2.35
Hm 4 FHik 10 ZROE 3. 40
) Frik 10 ARV 2. 00
gk Frik 10 X 4.21
Hom) 4 FHk 10 F 4 5. 08
A Tk 10 FERE 0. 84
B FHik 10 FIRE 3.75
) Frik 10 FHE 3. 67
ik FHk 10 Rz 1. 50
A Frek 10 A 5.90
#h ) Frik 10 FREM 10. 10
B4 FHik 10 AR 2.27
) FHik 10 2 1.75
Hom 4 FHEk 10 AR 2.91
w4 FHk 10 K 3.53
A Tk 10 TIRE 181. 00
B FHik 11 K&K TT 3. 04
) Frik 11 FHIP 0. 10
Hom FHk 11 Fiatk 2.61
Hom) 4 FHk 11 FHliz 4,00
ik Tk 11 K== 1. 90
ks FHk 11 R 3.70
) FHik 11 B 3.05
ik FHk 11 gk EE 7.80
ik Frek 11 KR 7.24
ik Tk 11 KE= 3.00
Al FHk 11 LE= 4.07
A FHk 11 E PRI 3. 30
B Frk 11 A% 3. 20
w4 FHk 11 FHT 2.27




B Frk 11 JAEZIT 2.53
B FHik 11 =[5 5 2.05
Hom 4 Frik 11 [ Siipd 12. 00
Hom FHk 11 FIUIR 0.79
Hom) 4 FHk 11 FKE 3.20
w4 JHk 11 Fn 4,90
B Frik 11 FIL4 4,87
) FHik 11 FHLG 0.97
Hom) 4 FHk 11 RS 4,91
A Frek 11 FEE 1.48
#h ) Frk 11 Ao 0. 88
B Frik 11 KEEZ 4,00
w4 Frik 11 FRFE 3.93
Hom FHk 11 HEn 2.07
Hom) 4 FHk 11 [ 5592 1.95
ik Tk 11 K 2.00
B FHik 11 FRE 3. 00
) FHik 11 R 2.53
ik FHk 11 TIRF 3.00
ik Frek 11 FHIAL 3.77
Ho ) Frik 11 FRIE 2.99
B Frik 11 BHFE 2. 00
Hm 4 Frik 11 kI 3. 00
Hom 4 FHk 11 F KNI 3. 00
w4 FHk 11 TiRE 0. 80
Hm FHk 11 TR 2.87
Hm 4 FHik 11 Kk EE 1.50
Hm 4 Frik 11 FHH 3. 00
Hom 4 FHk 11 FRI 1.20
Hom) 4 FHk 11 FIEIK 1.30
A Tk 11 KAFIE 3. 40
Hm 4 FHik 11 Fra 1.56
w4 Frik 11 THRE 1.20
Hom) 4 FHk 12 R 950. 00
Hom) 4 FHk 12 FRR 2. 44
#h ) Frk 12 FHL 4.79
A FHk 12 XK= 8.78
A FHk 12 = 6.07
ik FHk 12 Efiipa 4. 00
#h ) Frik 12 F g 4.20
#h ) Frik 12 Aeip 4,30
B4 FHik 12 2 4,90
) FHik 12 FHLR 6.07
Hom 4 FHEk 12 Frifhie 1.50
w4 FHk 12 Fi 2.70
B Frk 12 K&K 3.71
A FHk 12 ok £ 4.71
w4 Frik 12 KAFZ 10. 50
Hom FHk 12 HRE 4. 80
Hom) 4 FHk 12 FZ R 0.76
#h ) Frik 12 FILAE 7. 00
Hm 4 FHik 12 WRIE 4.79
) FHik 12 K HR 4.79
Hom 4 FHEk 12 FHifb ik 0.45
w4 FHk 12 ERE 5.29
ik Tk 12 EIRE 4. 80
B Frik 12 KR 5. 00
w4 Frik 12 AT 0.70
Hom FHk 12 KFFLL 2.57
ik Tk 12 gk &P 10. 00




7 4 Tk 12 A 5.27
R4 Tk 12 FWE 4.71
4 Tk 12 2R 2.47
# ) Tk 12 I 7.00
) 4 Tk 12 F AR 4.49
) B Tk 12 [N 6.07
#o ) Tk 12 FRE 3.71
# ) Frik 12 il 4.79
# ) B Eeian 1 fa O 3.90
4 FER 1 e 3.90
) B EER 1 FBER 6. 50
R4 ES 48] 1 JIED 5. 20
# EHO 1 ST, 3.90
H ) EHO 1 F PRI 6. 50
k! FER 1 T Nl 9.10
7 4 EHO 1 Bk 3.90
#h ) EHO 1 kAR 7.50
4 EHO 1 1 5. 20
) EHO 1 e 6. 90
)4 FER 1 B IR 5. 20
# 7 4 HHO 1 T 4. 60
#h ) EHO 1 A 4.70
# ) EHO 1 Tk RE 5. 20
k! HERO 1 ERR 2. 60
e 1 FER 1 FHRAL 5. 20
7 4 EHO 1 ik 5. 90
# ) EHO 1 AL 4.50
Gk EHO 1 gk 7.80
k! HERO 1 KRG 6. 50
)4 FER 1 =R 6. 50
7 4 EHO 1 &= LR 5. 00
# ) EHO 1 & R 6. 50
# EHO 1 ok R g 7.80
) Eei3n 1 g an 7.80
R E 4 FEO 1 T P 2. 60
e 1 EHO 1 [l 8. 30
R4 ES 48] 1 T8 5. 20
# EHO 1 iSEES 2. 60
k! HERO 1 15 AL 3.90
) 4 FER 1 =ER 6. 90
) B FER 1 KR4 6. 50
#o ) EHO 1 R0t 3.90
# ) EHO 1 e 10. 40
k! HER 1 Ji % 5. 20
R E 4 FEO 1 A= 1.30
7 4 EHO 1 e 3.90
B EER 1 gk 3.90
Gk EHO 1 KK 6.90
7 i EHO 1 RHF 6. 90
i 1 FER 1 pESaa 3.90
7 4 EHO 1 EER 2. 60
R4 EHO 1 AR 7.80
B EER 1 A4 6. 50
k! EHRO 1 i % 3.90
# 7 4 EHO 1 ZE K% 3.90
B EER 1 gk o g 2. 60
R4 ES 48] 1 EEE 9. 00
B EER 1 = e 6. 50
k! EHRO 1 b 5. 10
) 4 FER 1 HEER 8. 40




) B FERI 1 2R 7. 80
A Ectuqn 1 R ST 3.90
Hom 4 FHA 1 HBERE 8. 40
# ) EHO 1 [ 5. 20
A EctyqN 1 BRI 10. 30
) B FERI 1 B 7. 80
B FHA 2 EiAE 5. 60
) EHA 2 W 2. 30
R E FE 2 KEZ 11.05
4 s qn| 2 FadE 5.90
) B FERI 2 Bk 5. 90
A Ectuqn 2 ISRl 5.90
w4 FHA 2 EEAR 11. 80
ik FE 2 KEFE 2.50
#h ) EHO 2 75 4. 60
# A Ectyqn 2 K= 1.20
ks Ectuqn 2 e 5.95
A st qn 2 SRR 4. 40
B HERI 2 R 7. 30
)4 s qn| 2 EEE 7.30
ik Ectyqn 2 PRl 3.00
B FERI 2 iR 7. 80
Hm 4 FHA 2 TARCS 5.90
ik Fk 2 X 7.30
R E 4 s qn| 2 FKAHE 3. 80
B FERI 2 =it 1.50
B FERI 2 B R 4,40
A st qn 2 A 5. 30
gk HERI 2 M ED 2.35
)4 s qn| 2 S E 3. 00
A Ectyqn 2 B A 8. 80
B FERI 2 mE 8. 80
w4 s 3m| 2 kEE 5.90
gk HERI 2 [ =vd 4. 40
R E 4 s qn| 2 RBER 4. 40
A Ectyqn 2 BT 5.90
B FERI 2 F TR 5. 90
A Ectoqn 2 (SR 5. 20
ik FE 2 R 4.15
#A) EctyqN 2 P 1. 50
ik Ectyqn 2 J 1. 60
ks Ectuqn 2 E&W 3.00
HF) FER 2 FARAR 7. 80
Hom 4 s qm| 2 AR 7.30
A Ectyqn 2 R 8. 80
# A Ectyqn 2 P 2. 60
Hm 4 FHA 2 [ S 6. 50
A Ectqn 2 SIS 5.90
B HERI 2 R 4.30
4 s qn| 2 KA H] 7.30
) B FHA 2 K AR 2. 20
Hm 4 FHA 2 5 T5 5.90
A st qn 2 HIKF 5.90
Hom 4 EHO 3 R 3. 80
ik FERI 3 0, 5. 40
B FERI 3 S 5. 00
B FHA 3 BERE 5. 00
) s 3m| 3 i 8. 90
H ) EHO 3 AR 7.50
w4 EEM 3 PR 6.90




7 4 EHO 3 SR 5. 00
# ) EER 3 R 1.44
# EHO 3 By 3. 80
k! HERO 3 555 7.50
) 4 FER 3 K E R 6. 30
A4 E$ 48] 3 KEE 8. 80
#o ) EHO 3 gk & 2.80
# ) EHO 3 P EM 5. 00
k! HER 3 it B 3.80
i f EHO 3 o I 5. 00
7 4 EHO 3 kA Ep 5. 00
R4 ES 48] 3 gk H 3.80
s E) HH FERI 3 o 1.55
B E 4 EHO 3 KR 7.37
4 FER 3 ke 3. 80
R4 E$ 48] 3 PR 5.90
Hm 4 ES 48] 3 KT 7.50
# ) EHO 3 N 6. 30
k! HERO 3 TRILEK 9. 20
#BE 4 FEO 3 {5 T 3.04
R4 ES 48] 3 KTV 10. 00
#h ) EHO 3 KR 3. 80
# ) EHO 3 ko 7.50
7 EHO 3 k& 6. 30
)4 FER 3 kAT 5. 00
B EER 3 koAl 8. 80
# ) EHO 3 EHED 2.50
Gk EHO 3 EZEE 4.30
) EHO 3 FH & 1k 2.20
)4 FER 3 BiEtE 2. 20
R4 E$ 48] 3 MELE 5. 00
B EER 3 ENPES 5. 20
Gk EHO 3 PICE 6. 80
k! HERO 3 T2 4. 40
k! FER 3 gk E 3. 80
R4 E$ 48] 3 P 6.70
B EER 3 [N 1.25
Gk EHO 3 k& 6. 22
k! HERO 3 FKXIEf 4. 40
7 EHO 3 KTk 6. 30
) B EHRO 4 2R 5. 80
R4 EHO 4 K4k 15 4. 30
B EER 4 g 2.90
e 1 HER 4 [ 4 5. 80
) 4 FER 4 KigE 5. 80
7 4 EHO 4 Rz 4.30
#h ) EHO 4 PiSand 5. 70
# EHO 4 2SS 5. 80
H ) EHO 4 ZKJI 10. 10
4 FER 4 Kz 5. 80
) B EER 4 HEie 5. 80
B EER 4 gk o X 5. 80
# ) EHO 4 B E 9. 80
k! HERO 4 iR 2. 90
] 4 EHO 4 R IEH 7.20
7 4 EHO 4 RS 4.30
#h ) EHO 4 % 5. 80
# EHO 4 R 5. 70
7 EHO 4 TR AH B 4.50
7 4 EHO 4 AT 5. 80




#h ) EHN 4 BT 4.30
R4 ES 48] 4 gk 4k i 10. 10
4 EHO 4 X R 1.50
# ) EHO 4 AR 5. 80
) 4 FER 4 XA R 1.50
) B EER 4 EHAL 7.20
R4 ES 48] 4 X 7.20
# ) EHO 4 [ i 8. 60
k! HER 4 KR 10. 60
4 EHRO 4 REE 5. 80
7 4 EHO 4 SIEH 4.30
R4 ES 48] 4 XK 4. 30
# EHO 4 RSk 4.30
k! HERO 4 TR I 7.20
4 EHRO 4 E5F 5. 80
7 4 EHO 4 PRI 1.70
#h ) EHO 4 AN TE 4.50
4 EHO 4 kEZE 7.20
B E 4 EHO 4 ESiis 1. 40
)4 FER 4 EEH 10. 10
#E R 4 SIEME 7.00
#h ) EHO 4 M5 & 7.20
Gk EHO 4 W 2.18
k! WY 1 Pk E 3.78
)4 Y 1 MOF 3. 60
R4 WYEY 1 R4 4.00
# ) Y 1 R 2.00
# ) Y 1 gLt 2.50
) WY 1 IV 1. 40
R E 4 WYED 1 A£h 4. 40
7 4 Y 1 E9)4 7.00
# ) Y 1 HAE 2.30
# Y 1 E AR 1.50
k! WY 1 R4l 2. 00
#h ) Y 1 X EH 4.00
#h ) Y 1 Ve 3.10
B Y 1 HHE 2 2. 60
Gk Y 1 it 1.50
B E 4 WYEY 1 THFE I 3.00
) 4 Y 1 T &5 3. 00
A4 WYED 1 K 2.50
#o ) Y 1 SRR 3.00
# ) Y 1 Ak 2.50
k! Y 1 EIFSEs 5. 00
) 4 Y 1 EIEY 3. 50
#h ) Y 1 it 3.30
B Y 1 igH 3. 00
# Y 1 Eie 3.30
H ) Y 1 iz 3.00
R E 4 WYED 1 (RSP 3.00
#h ) Y 1 ;A 2. 80
#h ) Y 1 EPAREs 3.00
# ) Y 1 2R AE 2.30
k! WY 1 ML 2. 50
)4 Y 1 R0 4.50
B Y 1 LRE 3.30
#h ) Y 1 R 3.50
Gk Y 1 SR 3.23
k! WY 1 EEYS! 4.00
# ) Y 1 EIER 2.50




#h ) YR b 1 25 A\ 0. 60
A Y 1 J& 3. 50
Hom 4 SR b 1 X & 1. 40
Hom Y 1 HB+H 3. 40
B Y 1 SRR 4.00
ik SR 1 LR 4. 00
B SR b 1 2[5 1.00
) SR b 1 SRS 4. 50
B Y 1 MR Mg 3. 00
w4 Y 1 il 3.00
B YR b 1 247 4,00
B SR b 1 BEL 4,00
A SYEY 1 + Fok 2. 50
B Y 1 EgisdlE 1.50
Hom) 4 Y 1 MEE 1.70
HE YED 2 X 75 A 4,00
B SR b 2 R0 3. 00
) SR b 2 AR 3. 50
Hom 4 Y 2 FRXIAE 1. 00
w4 Y 2 gl 6. 00
ik SRS 2 55 H 3.00
Al Y 2 RN E 6. 00
) SR b 2 R0 R 6. 00
Hom 4 Y 2 O R 4,00
w4 Y 2 ENEER 6. 00
B YR b 2 SRR 1.89
B SR b 2 W7 15 5. 00
) SR b 2 2T 4. 40
ik BYEY 2 5} 3.50
Hom) 4 Y 2 BN 4,00
Hm SYEY 2 A 4,00
B SR b 2 ESRE 2. 00
w4 SR b 2 E 5. 00
R E) WYEY 2 A 0.10
B Y 2 B E ST 2. 60
B YR b 2 R0 4,05
B SR b 2 SEXE 2.70
) SR b 2 SR 3. 40
ik WYEY 2 BIR= 2.10
A BYED 2 R0 fi 1. 50
w4 SYEY 2 LS 5. 39
B4 SR b 2 5= 1.50
) SR b 2 R0 5. 10
ik WYEY 2 FRO 5.10
w4 Y 2 AT 2.50
B YR b 2 =R} 4,50
B SR b 2 =45 3. 00
) SR b 2 Eifa 3.13
B Y 2 Ei i 2. 40
A WYED 2 SR 2. 40
B YR b 2 EIPVS Y 3. 50
B SR b 2 R0 5. 34
Hom 4 SR b 2 FRRA 4. 50
B Y 2 Frigig 4.70
w4 Y 2 K5 H 1. 00
B YR b 2 VY= 2. 00
Hm 4 SR b 2 LFE 3. 50
) SR b 2 R0 4. 86
Hom Y 2 BEXI 5% 3.50
B Y 2 2R H 6. 00
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A FLBE 3 L 1.50
ik FLEE 3 FLAA 6. 60
Hom FLBE 3 EEE 6. 30
#h ) Tk 3 FLILEE 4.30
w4 L 3 EiN N 6. 40
B4 FLEE 3 A E 5.17
Hm) 4 FLE 3 L& 2. 60
ik FLBE 3 L4 7.40
w4 SLBE 3 THE 3.90
Hm L 3 FLEEAR 2.70
A FLBE 3 KARLE 7.80
w4 FL 3 FLALA 3.30
Hom FLBE 3 LK 4,87
Hom) 4 FLk 3 I 3.90
B FLEE 3 kEE 9. 80
Hm 4 L 3 KEM 2.70
Hom 4 T 3 L& 6. 90
Hom 4 FLBE 3 FLERAM 5. 20
ik FLBE 4 L4 4.20
ik FLBE 4 fLIETR 5. 00
Hm 4 LB 4 FLERAR 4,20
w4 FL 4 FLIL X 3. 00
B Tk 4 LR 5. 30
w4 SLBE 4 FLEE 4,20




A FLBE 4 FLIE X 3.20
Hm 4 LB 4 LKA 5.10
) FLE 4 ok A% 4. 20
Hom FLBE 4 fLILE 4,20
Hom) 4 Tk 4 LR 3.20
ik FLBE 4 FLERAE 5. 20
ik FLBE 4 FLEEAE 5.10
A FLBE 4 L2 3. 20
Hom) 4 FLBE 4 fLILE 4,20
A FLBE 4 FLERHR 7.40
HE L 4 LT 4,20
B FLEE 4 LA 4,20
w4 FL 4 FLERH 5. 20
ik FLBE 4 fLILE 4.20
A FLBE 4 FLKH 5. 20
HE L 4 FLPRIE 6. 40
Hm 4 L 4 LA 1 4,20
A FLBE 4 XI| 5% H 4. 20
B Tk 4 LLEZ 3. 20
w4 Lk 4 KEE 3.20
Hom 4 L 4 FLNLE 5. 20
B FLEE 4 L 1.10
Hm 4 T 4 FLEERK 7.40
Hom 4 FLBE 4 Lo 6. 40
ik FLBE 4 FLEER 3.20
Hm L 4 FLER 4 3.87
B L 4 W5 6. 40
A FLBE 4 %% BH 3B 4. 20
gk Tk 4 EER 3. 70
ik FLBE 4 FLILK 4.20
A FLBE 4 LR 3.20
ks FLBE 4 FLIEHT 4. 20
w4 FLEE 4 FLILA 5. 20
Hom) 4 FLBE 4 LK 2.10
Hom) 4 SLBE 4 LR JH 4,20
A FLBE 4 fLILAE 7.40
Hm 4 L 4 FLLS 4,20
ik FLEE 4 LA R 4. 00
Hom FLBE 4 FLRTS 6. 00
Hom) 4 SLBE 4 LR 5. 00
ik FLBE 4 P EE 9. 50
B4 FLEE 4 O RRE 3. 20
Hm) 4 FLE 4 =3 3. 80
Hom 4 FLBE 4 PN 1.10
# ) FLk 4 FLJLE 4.20
B FLEE 4 LR 6. 40
A FLBE 4 FLERE 7.40
A FLBE 4 R 4. 20
Hom FLBE 4 EiREST 3.20
#h ) FLk 4 LA 5. 30
w4 L 4 FLALE 5. 30
ks FLBE 4 2 JAE 6. 40
Hom 4 T 4 FLL A 1.10
Hom 4 FLBE 4 FLEENE 2.20
ik FXIE 1 X2 3.00
B R d)E 1 FH R 10. 00
Al pdlEs 1 XA & 6. 00
w4 R d)Es 1 e 4. 00
ik B 1 =S 2.10
ik FXIE 1 [ 5e R 2.80




#h ) R d)E 1 XK 7. 5. 10
Hm 4 B 1 SRR 6. 00
) B 1 Ei= 2. 10
Hom B 1 SR 4.00
A FXIE 1 XIAESL 4. 00
#h ) R d)Es 1 FH R 4,08
w4 B 1 XA 2.10
) B 1 fRE 8. 16
Hom) 4 B 1 PES 3. 60
# ) R d)Es 1 X E & 2. 10
A FXIE 1 H it 7.00
B B 1 X5 18 0. 60
w4 R d)Es 1 X% 5. 00
ik BIXIE 1 HEP 2.50
Hom) 4 EpdlEs 1 XAFEIR 6. 00
#h ) F I 1 1)l 4,00
Hm 4 B 1 MR 5 5. 00
) B 1 Sy 2. 00
Hom 4 R () 1 A 1.80
# ) R d)Es 1 K RIE 3. 00
Ho ) R d)E 1 XI5 7. 10
Hm 4 B 1 XIPR%E 4,50
Hm 4 B 1 i 6. 00
B FEXIE 1 T4 7. 00
ik FXIE 1 i 8. 50
ik FXIE 1 XA 2.70
B FEXIE 1 X A7 58 3. 00
Hm 4 B 1 XIERIL 2.00
ik B 1 X 3.00
Hom) 4 EpdlEs 1 EREE 4,00
#h ) R d)Es 1 X 4,10
B B 1 it 5. 00
A RS 1 EYAF 6. 50
gk HEXIE 1 FH ik 72 4.00
Hom) 4 EpdlEs 1 SR 6. 00
#h ) R d)E 1 X R 2.90
B B 1 JAFE 3. 00
A RS 1 XIAF] 7.48
Hom B 1 e 6. 00
A FXIE 1 FEZ 3.00
#h ) R d)Es 1 £k 2. 00
B4 FEXIE 1 XIAFIE 7. 00
Hm) 4 B 1 XIAETH 4. 00
B B 1 ONE 4.10
# ) R d)Es 1 TR 3. 00
#h ) R d)E 1 BHE 5. 10
B B 1 THZ 4,00
) R d)Es 1 K= 6. 00
B FEXIE 1 L% 4.00
A FXIE 1 SAEIN 4. 00
w4 pdlEs 1 XL 5. 00
ks pdlEs 1 XILEHE 3.00
Hom 4 B 1 XIS 10. 50
) FEXIE 1 XA 4.00
ik FXIE 1 AR 6. 00
#h ) R d)E 1 XI5 R 4,40
B B 1 XIS Hb 1.00
w4 R d)Es 1 SR 2.10
ik BN 1 FH 7.00
ik FXIE 1 R 8. 50




7 4 B 1 XRE 3.10
B B 1 XPRER 3.10
# B 1 = 2.00
# ) B 1 X 5F 7.50
7 B 1 DR iees 3.00
7 4 B 1 Iy 2 4.10
B B 1 XFERE 6. 50
# ) B 1 X125 3.00
k! B 1 HHE= 3. 00
i f B 1 i 3.00
7 4 B 1 X7 5. 00
B B 1 XIAEJE 6. 00
# B 1 MEE 5. 00
k! B 1 ) 8. 50
4 FAXIFE 1 TRARAT 4.00
7 4 B 2 bl 2.40
#h ) B 2 XIFRiE 5. 00
# ) B 2 I ZE R 4. 00
k! R () 2 BEE 2.70
)4 FAXIFE 2 XA 2. 60
R4 BEXUE 2 XUAF 5 3.50
#h ) B 2 2= A 2.80
# ) B 2 ARG 2. 80
k! B 2 e 3. 60
)4 FAXIFE 2 ZEF5E 3. 60
7 4 B 2 XRAT 2.50
B B 2 XA 10. 00
Gk FAXIFE 2 SR 2.30
) B 2 X RS 1. 50
)4 FAXIFE 2 I K 4.00
7 4 B 2 Xk FE 0. 60
# ) B 2 JAER T 4.00
B B 2 SRA 4. 00
) B 2 L L) 2. 00
4 FAXIFE 2 RN 1.80
R4 B 2 SRV 1.90
R4 FAXIFE 2 I 3.80
# B 2 X470 1.90
# ) FEXIE 2 I Bk 1.90
) 4 FAXIFE 2 X PRI 3.50
7 4 B 2 JfiEa &R 1.25
B B 2 XSk 4.00
# ) B 2 Givii 2.50
k! R d)Es 2 X 4.00
) 4 FAXIFE 2 ST 6. 00
) B T 2 X 47 [H 2.20
B B 2 XAFET5 2.80
# B 2 KHiE 3.00
k! B 2 blled =5 1.30
4 FAXIFE 2 pulleas 1.50
7 4 B 2 L 3.00
#h ) B 2 HEZ 4.00
B B 2 XH A 3.00
k! R () 2 X 3. 30
R E 4 BEXUE 2 i 6. 00
R4 B 3 XiAE AL 6. 50
R4 FAXIFE 3 JH R e 10. 00
# B 3 i &R 4. 00
k! B 3 X PR3 5.00
) 4 FAXIFE 3 It (RAE 5. 00




7 4 B 3 XA 4.20
B B 3 X5 6. 00
) 4 B 3 KPR % 6. 50
# ) B 3 XA 7.00
) 4 FAXIFE 3 X PR 7K 5. 80
7 4 B 3 RN 4.20
#o ) B 3 X 5. 10
B B 3 X 4. 40
# ) B B 3 KRS 3.50
R E 4 BEXUE 3 X IR 6. 50
R4 B 3 XA 7.00
#h ) B 3 X 57 e 5. 50
B B 3 XRE 3. 50
H ) B 3 XIAZF] 4.00
R E 4 BEXUE 3 JEESR 2.00
7 4 B 3 XAF 4R 5. 00
#h ) B 3 X SFIL 3.50
# ) B 3 FLi 4. 00
k! R () 3 X5F B 7.50
)4 FAXIFE 3 SRZ 5. 00
# 7 4 B 3 e 1.10
R4 FAXIFE 3 XMRE 5. 40
Gk FAXIFE 3 i ek 4. 00
k! B 3 e 75 1.10
R E 4 BEXUE 3 SE 4.00
7 4 B 3 X i = 5. 00
B B 3 XRE 2.20
B B 3 X i 4. 00
) B 3 X 5F % 3.10
)4 FAXIFE 3 X @A 6. 00
7 4 B 3 X7k 3L 2.00
B B 3 X F5 5. 00
B B 3 [ S=:30) 6. 00
) B 3 TR % 2.00
4 FAXIFE 4 SRFE 2. 60
R4 B 4 gk EE 1.40
# ) B 4 RS 5. 20
# B 4 2 4. 40
# ) FEXIE 4 B4 5. 50
7 B 4 P 3.00
) B T 4 St g 1.20
#o ) B 4 FIL4E 3. 80
# ) B 4 AR 5. 80
# ) B 4 T2k 5. 00
) 4 FAXIFE 4 ZHEAE 13. 00
R4 B 4 Lyt 3. 00
B B 4 (AN 2.70
# B 4 AR 2. 60
k! B 4 LikAE 6. 50
i B 4 55 3.00
7 4 B 4 R 7.80
#h ) B 4 oy 5. 20
Gk FAXIFE 4 FLRA 1. 40
) B 4 RS 3.90
)4 FAXIFE 4 FK5 3.90
7 4 B 4 EILE 1.30
B B 4 Lt 3. 00
# B 4 E£E2 7.10
B E 4 BN 4 EER 7.60
7 4 B 4 AT n Py 6. 00




7 4 B 4 X & H 3.50
# ) B 4 X1 7.70
) 4 B 4 AL JRAR 7.80
k! B 4 1T 4.20
) 4 FAXIFE 4 X 5% 3.90
7 4 B 4 X H & 3.89
#o ) B 4 ERE 2. 60
# ) B 4 2R 5. 80
R E 4 BN 4 RAUEE 7.30
i f B 4 PR 5. 20
7 4 B 4 TH%E 1.30
#h ) B 4 =PI 7.10
B B 4 Lt 5. 00
H ) FEXIE 4 2 3.15
R E 4 BEXUE 4 FERF 4.35
7 4 B 4 XI5t 3.50
#h ) B 4 TR 3.90
4 FAXIFE 4 XER 7.30
k! B 4 Ok 3.90
)4 FAXIFE 4 X5 1.40
e 1 T 4 k4 3.90
B B 4 LR 6. 50
# ) B 4 REF 5. 20
B E 4 BN 4 1E&F 2.80
# 7 4 B 4 FER K 3.90
7 4 B 4 E 2k 7.80
R4 FAXIFE 4 Z=45 I 2.10
# ) B 4 WES 3.90
) B 4 X E 5. 40
# 7 4 B 4 25 Pl 2. 60
7 4 B 4 T H 6. 50
# ) B 4 B 5. 60
Gk FAXIFE 4 Bl 5. 00
) B 4 FHER 5.58
7 4 B 4 XNAH 3.90
7 4 B 4 AR 1.60
# ) B 4 AT RAF 5. 20
# B 4 FHEE L) 5. 10
k! B 4 R 7.50
7 B 4 iy 7.50
7 4 B 4 Eig 5. 80
R4 FAXIFE 4 XX 4. 40
Gk FAXIFE 4 ATk 8.70
k! B 4 T 3.90
e 1 FAXIFE 5 TR AR A 4.13
e 1 T 5 Lt 3. 80
#h ) B 5 EER 5.25
# B 5 =Pl 6. 80
k! B 5 BT 2.50
4 FAXIFE 5 852 6. 00
7 4 B 5 K B A 3. 80
#h ) B 5 EFARS; 1.50
# ) B 5 JHAER 2.50
B E 4 BN 5 Hikad 8. 00
R E 4 BEXUE 5 ZEH 2.50
7 4 B 5 Epd| 1.60
R4 FAXIFE 5 XNE = 2.10
# B 5 048 6. 00
k! B 5 XA 0.96
e 1 FAXIFE 5 k% 5. 00




7 4 B 5 StE 7.20
# ) B 5 oA 2.30
# B 5 T Ep 2.40
# ) FEXIE 5 oyl 1. 50
) 4 FAXIFE 5 YA 2. 90
7 4 B 5 okis 2.50
#o ) B 5 Ik Bl 5. 70
# ) B 5 0k Bt 6. 30
# ) B B 5 JA AR 1. 00
4 FAXIFE 5 g R 3.75
) B T 5 £k 6. 50
B B 5 S 2.80
# B 5 0IkE 2.00
B E 4 B Il 5 L=} A 1.80
4 FAXIFE 5 Ik 6. 30
) B T 5 iy 2.50
#h ) B 5 DY 3.55
4 B 5 Pl s 5. 50
B E 4 BN 5 LA 3.80
)4 FAXIFE 5 LR 4.50
B T 5 Hfts 3.30
#h ) B 5 AL 7.50
# ) B 5 kiR 3.70
) FEXIE 5 E R 6.25
# 7 4 B 5 FRHIZT 4.00
7 4 B 5 =P 2.50
B B 5 HitE 3.70
B B 5 Lt 3.20
k! B 5 oyt 9. 00
)4 FAXIFE 5 Skt 3. 60
7 4 B 5 T 3.70
# ) B 5 HE4 1. 00
# B 5 MEH 6. 40
k! B 5 SR 5. 00
7 4 B 5 oyt 6. 40
7 4 B 5 5k 0.20
B B 5 PR 3. 50
# B 5 sz 4. 00
k! B 5 kR 5. 00
7 B 5 oyts 5. 00
7 4 B 5 FE2EN 2.30
#o ) B 5 PR 6. 30
Gk RS 5 TizE 2.80
# ) B 5 & 2.50
) 4 FAXIFE 5 Ltk 1.50
) B T 5 Lt g 2.30
B B 5 R 1.00
Gk FAXIFE 5 E4%F 5.70
H ) B 5 EE 2.55
i B 5 Ttk 2.20
7 4 B 5 O 5. 50
#h ) B 5 FER 3.30
Gk RS 5 TR 7.30
) FEXIE 5 BN 6. 00
# 7 4 B 5 R4k 2.50
7 4 B 5 E5iE 2.50
#h ) B 6 X RIE 9. 00
B B 6 XUHRAR 4. 60
H ) B 6 M H & 6. 80
R4 BEXUE 6 EEH 3.70




R4 B 6 XUCHT 5. 00
R4 FAXIFE 6 A B 2.10
) 4 B 6 XA R 8. 40
k! B 6 TR 2. 30
) 4 FAXIFE 6 X g 4.00
A4 BEXUE 6 pUES 7.20
#o ) B 6 X4k A 2.40
# ) B 6 HER 2.40
7 i B 6 X8 % 6. 20
i f B 6 mER 9. 00
7 4 B 6 BER 2.50
R4 FAXIFE 6 XA 5.90
# B 6 X4k 1.10
k! FAXIFE 6 o 2. 30
4 FAXIFE 6 I 10. 80
7 4 B 6 X4k 5 4. 80
#h ) B 6 X1 /& 13.30
# ) B 6 HES 6. 10
k! B 6 M 3. 50
R E 4 BEXUE 6 MRS 4. 60
# 7 4 B 6 XA IR 2.40
R4 FAXIFE 6 IR 6. 60
# ) B 6 X 7.20
k! B 6 X H Ep 2.50
R E 4 BEXUE 6 XU 3.00
R4 BEXUE 6 X4k 5 0.50
# ) B 6 & 7.20
# ) B 6 RN 2.90
7 B 6 X $F 0.70
R E 4 BEXUE 6 XI| 28 5. 40
7 4 B 6 ZEF 2.50
R4 FAXIFE 6 XIHCAE 0. 60
Gk FAXIFE 6 XK E 5. 40
7 i B 6 ki 3. 90
4 FAXIFE 6 THFER 9. 00
7 4 B 6 KB R 0.90
B B 6 HH R 0. 40
# B 7 {E5F 1.20
B E 4 BN 7 TP 1.70
) 4 FAXIFE 7 A H 3. 00
) B T 7 JH 75T 4.50
#o ) B 7 JH P 1.50
# ) B 7 322 0.50
k! B 7 THPE IR 1. 20
) 4 FAXIFE 7 & 2. 00
7 4 B 7 TH P AR 9. 00
#h ) B 7 kT 0. 80
B B 7 Mt H 1.70
H ) B 7 oy e 7.00
4 FAXIFE 7 &% 5. 00
7 4 B 7 hEH 2.40
#h ) B 7 JHI P ~F 2. 60
B B 7 PG 0.50
k! B 7 TG R 1.00
)4 FAXIFE 7 JH PG 3 3.90
7 4 B 7 iR 5. 30
R4 FAXIFE 7 TH A 2E 1.50
# B 7 pES 1. 00
k! B 7 KB 0. 70
) 4 FAXIFE 7 HIHER 2. 80




Hm pdlEs 7 TR E 3. 00
B B 7 EEH 4,50
) B 7 FAE 0. 80
gk FEXIE 7 FREH TN 1.50
Hom) 4 EpdlEs 7 HE 1.10
#h ) R d)Es 7 HTE R 0.35
w4 B 7 FLARE 0. 60
) B 7 R 2. 20
Hom) 4 BN 7 KR 0. 60
w4 EpdlEs 7 PR 1. 00
HE pdlEs 7 Vi [ 1. 00
B B 7 HITE 3. 60
) R d)Es 7 TE4 3. 90
Hom FAXIE 7 THRAE 3. 00
Hom) 4 EpdlEs 7 R 0.70
#h ) F I 7 M4 5. 40
B B 7 4l 7.15
Hm 4 B 7 AR % 2. 40
Hom 4 FAXIE 7 HHESES 6. 00
# ) R d)Es 7 [0 1.20
Hom 4 pdlEs 7 JH P AL 1.50
B B 7 JH1 76 B 3. 10
Hm 4 B 7 PR 3. 00
B Bl 7 ATIRIR 4. 00
# ) R d)Es 7 HE R 6. 00
#h ) R d)Es 7 e 1.85
B R d)Es 7 HEH 4,00
) B 7 1 75 3 4. 50
ik B 7 THZE 1. 00
Hom) 4 EpdlEs 7 RS2 5.15
#h ) R d)Es 7 EES%3 1. 40
B B 7 AR 2. 60
) B 7 4t 4. 50
gk HEXIE 7 JHPE 5.45
A FXIE 7 THEEST 1.90
#h ) R d)E 7 HTE R 5. 80
Hm 4 B 7 7H1 5% [ 7.20
) R d)Es 7 JH P 5. 10
Hom FAXIE 7 JH P E 5. 00
A FXIE 8 EER 2.50
#h ) R d)Es 8 W5 4,20
B4 B 8 M5 7 3. 10
Hm) 4 B 8 FE 5. 30
B FEXIE 8 FH2 3. 50
A FXIE 8 KA 7.20
#h ) R d)E 8 EFiRAN 3. 40
B B 8 HRZ 2. 40
w4 R d)Es 8 TAEF 5. 40
B FEXIE 8 FRAE 7. 00
Hom) 4 EpdlEs 8 BRI 2.50
#h ) R d)Es 8 MAEE 6. 40
B B 8 F4)1 4,50
) B 8 Eeveall] 2. 50
ik B 8 FHEE 3.20
ik FXIE 8 I HH 7.90
ik FXIE 8 FlEE 5. 50
B B 8 e ia 4,00
w4 R d)Es 8 TAA 6. 00
B FEXIE 8 2K 1.50
# ) R d)Es 8 KB 9. 00




#h ) R d)E 8 TR 6. 10
A pdlEs 8 X RT 6. 00
) B 8 S YL 2. 10
Hom B 8 TN 4. 50
#h ) B 8 FEd 4.00
#h ) R d)Es 8 BEKE 5. 80
w4 B 8 THis 3.10
) B 8 Kz 14. 00
Hom) 4 B 8 EX 0 2. 40
A FXIE 8 EHFE 5. 20
#h ) R d)E 8 EEES 8. 50
B B 8 2R 4. 80
A pdlEs 8 R 4. 20
Hom B 8 K 3.00
#h ) B 8 HEX TR 3. 00
ik FXIE 8 EHos 6. 30
ks pdlEs 8 By 4. 30
) B 8 EEGEAA 7. 00
Hom 4 FAXIFE 8 T 3. 40
ik FXIE 8 EE L 5. 50
Ho ) R d)E 8 Fi 4,50
B B 8 TR 5. 30
Hm 4 B 8 SRR 3.90
Hom 4 B 8 EH= 6.70
w4 EpdlEs 8 T 6. 30
Hm pdlEs 8 THEE 5. 50
B R d)Es 9 FARIL 4,40
Hm 4 B 9 F 4. 00
gk Bl 9 S 3. 50
#h ) R d)Es 9 FEM 3. 00
#h ) R d)Es 9 BEE 3. 30
Hm 4 B 9 BEoER 4,50
) B 9 S 4. 20
Hom) 4 B 9 BKH 5.10
#h ) B 9 2K K 7. 40
#h ) R d)E 9 E A 4. 80
Hm 4 B 9 JHRKGE 4,50
ik R d)Es 9 SR 6. 00
ik BIXIE 9 JEIHETE 2. 40
Hom) 4 EpdlEs 9 TAHEK 5. 60
#h ) R d)Es 9 EKEA 3. 40
B4 B 9 H R 6. 30
Hm) 4 B 9 B2 6.10
ik FXIE 9 A5 H 2. 40
A FXIE 9 Ricx 5. 00
#h ) R d)E 9 FEZE 2. 40
B B 9 AR 4,50
) R d)Es 9 kA% 3. 60
ik BIXIE 9 TR 3. 80
Hom) 4 EpdlEs 9 LSS 5. 40
#h ) R d)Es 9 FHR 4,40
B FEXIE 9 Sk E 1.80
Hom 4 B 9 BRKE 2.30
B Bl 9 2K 4. 40
w4 EpdlEs 9 SR 4,00
#h ) R d)E 9 EKR 5. 40
Al pdlEs 9 HERKE 4. 50
w4 R d)Es 9 TAEE 3. 20
B B 9 K 2. 70
w4 EpdlEs 9 2K 6. 30




#h ) R d)E 9 RELE 2. 80
A pdlEs 9 4 4. 40
) FEXIE 9 ETAR 3. 00
Hom BN 9 K 3. 60
#h ) B 9 ke 1.80
#h ) R d)Es 9 TS 0. 80
ik pdlEs 9 KA 4. 50
) FEXIE 9 JE e 0. 40
B FEXIE 9 S 6. 00
w4 EpdlEs 9 FERTF 1. 60
HE pdlEs 9 KR 5. 30
B FEXIE 9 32 [H 4,50
A pdlEs 9 7 6 4.00
B FEXIE 9 st 6. 00
#h ) B 9 i 5. 00
#h ) F I 9 [i3zaia 2.70
Hm 4 B 9 PRI 2. 40
Hm 4 B 9 T 3. 50
ik FXIE 9 =P 2.70
ik FXIE 9 FAE 2.00
Ho ) R d)E 9 NI 2. 40
Hm 4 B 10 oy 8. 60
A RS 10 AL 1. 80
Hom 4 B 10 L 3. 00
w4 EpdlEs 10 S i M 7.60
#h ) R d)Es 10 =51 [ 5. 80
ks pdlEs 10 pE ey 6.70
) FEXIE 10 Ji R 5. 80
gk FEXIE 10 FRid It 2.90
#h ) R d)Es 10 B R 1.40
#h ) R d)Es 10 2[4 6. 20
B FEXIE 10 JuSE4 4,30
A RS 10 AR 4. 40
gk HEXIE 10 i 5. 80
#h ) B 10 F=4R 4. 80
#h ) R d)E 10 o 5. 80
Hm 4 B 10 2RI 1.50
) R d)Es 10 Ei 4. 80
Hom FAXIE 10 AL 1. 40
#h ) B 10 gl 4.30
#h ) R d)Es 10 BEL 7. 10
B4 FEXIE 10 B 1.50
) B 10 == 4. 80
B FEXIE 10 FTEE 12. 50
# ) FEXIE 10 RHTLE 1.90
#h ) R d)E 10 1F4:1E 5. 80
A pdlEs 10 Yo 4 6. 60
A RS 10 EEM® 10. 00
Hom BN 10 A 0. 50
Hom) 4 EpdlEs 10 BEIF 3. 00
w4 pdlEs 10 R 4,10
B FEXIE 10 JH oA 4,30
Hom 4 Yl 1B TR&E 2.20
B Bl 1B\ ZEgk % 2.90
# ) Bl 1B\ 220k 1.68
w4 Bl 1B HA4k R 2. 00
Hm 4 Yl 1B\ i 2. 00
w4 Yl 1B G 3. 00
Hom Bl N HIER 2. 60
w4 Bl 1B\ R 5. 00




Hm Bl 1B ERE 3. 00
A Bl 1BA LA 3.00
Hom 4 Yl 1B R 4. 00
Hom Bl N YR 5. 60
B Bt 1B\ ISR 2.50
ik It 1BA Etd 3.00
w4 Yty 1B BRI 2.20
) Bt 1B\ I 1 4 1.72
B Bl N A 1.30
w4 Bl 1B\ R 2.00
A It 1BA ECibel 2.15
A Bl 1BA VL 1. 50
w4 Yty 1B AR 2.30
B Bl 1B\ FEH 1.68
S Bt 1B\ TR E 3. 00
ik It 1BA k= 1.68
B Bt 1B\ IR 1.50
A Bl 1BA 5k 5. 60
Hom 4 Bl N Erepid 2.52
w4 Bl N Hik 3. 50
Ho ) Il 1B\ KAl 1.72
Al Bl 1BA FRKE 1.70
Hm 4 Yl 1B K e 2.52
ik Bl 1BA ZEYRE 3.70
w4 Bl 1B\ ZKIK 4. 80
Hm Bl 1B 2k 2.00
ks Bl 1BA K X2 1.30
Hm 4 Yl 1B TER 1.70
Hom 4 Bl N R 1.68
#h ) Bt —H | Fanx 2.50
Hm It —H HHE 6. 50
B Bl 4 | FEmW 1. 50
w4 Bt —H TR 1.20
Hom) 4 Bl — TH 2.00
Hom) 4 Bt — HiET 2.00
Hm It —H E 08¢ 4,50
Hm 4 It —H HAR 1.50
A Bt et L1 2. 80
Hom Bl — B 1.80
A B i RIS 2.50
w4 It —H wEH 1.20
Hm 4 It —H AR 1.50
Hm) 4 Bl —H HIER 5. 50
Hom 4 Bl — &l 1.80
# ) Bl — | G 4.00
Hm It —H HHE 4,00
Hm 4 It —H R 2. 80
) Bt | EHIL 2. 00
B Bl — | EkRE 0. 50
Hom) 4 It | xiAE 3. 80
w4 It —H i [ 40 2. 80
Hm 4 It —H R 2.00
Hom 4 Bl —H (AR 4. 00
B Bl —H | ERAME 1.50
w4 Bl — i [ Fift 2.70
w4 It —H EREP 1. 00
Hm 4 It —H S 1.30
w4 Bl —H =R 1.20
Hom Bl — AR 2.00
w4 It — Pl e 1.50




#h ) It | EEi 3. 00
A B | SR = 1. 80
Hom 4 Bl —H THE 2. 50
gk Bl —H | W 2. 00
Hom) 4 Bl oy | el 1.80
#h ) It 4 | FER 2. 00
w4 It —H HAUE 2.00
Hm) 4 Bl | MREE 4. 00
Hom) 4 Bl = EER 5. 00
A B =4 Et%an 2.50
HE It = FEM 1. 00
Hm 4 It = HOLE 1.20
) Bl =M | ERT 2. 50
B Bl = | EE 9. 00
Hom) 4 It = HEY 1. 00
ik I =4 BT 6. 00
Hm 4 It = A 4,00
Hm 4 It =4 R 4. 30
Hom 4 Bl = R 1. 00
w4 Bt = Et g 2.00
Hom 4 It = HRE 2.00
Hm 4 It = E 2.00
Hm 4 It = | BER 5. 00
B Bl = | EE 5. 00
w4 Bt = A e A 4,00
Hm It = R 3. 00
ks B =4 KR 2.00
Hm 4 It =4 HER 3. 00
Hom 4 Bl = Eetss 4,00
Hom) 4 Bt = E0s 4,00
Hm It = EEUN 4,00
B Bl =4 | REZ= 1.50
w4 Bt = | B 4. 00
Hom) 4 Bl = HEK 4,00
A B =4 R 4. 00
Hm It = N 2.00
Hm 4 It = i 2.20
ik Bt =4 IR T 2. 60
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A B =4 E2D'8 8.00
w4 It = = [F By 2. 50
B4 Bl = | EAEAE 2. 00
) Bl =M | FET 2. 00
Hom 4 Bl = Ei) 2 7.00
A B =4 R IE 3. 60
Hm It = R4 6. 00
B Bl =l | &EBH 1.00
) Bl =M | #EaeA 7. 00
Hom Bl =4 | 3. 60
Hom) 4 It = HiEE 4,00
w4 It = E Gl 2. 00
B Bt = i 5. 00
Hom 4 Bt =4 HEIR R 6. 00
ik B =V FE5¥ 2.00
w4 Bt = HOHTE 1.70
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si o gy VO 2H =HE 2. 80
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i Bl N #E1E 3. 50
ﬁBiJfE It N HEM 2.24
ﬁBiJf,i: Bl N HIRIR 2. 40
zﬂ?%; Bl urEel 2 2.00
;ijl‘ Bt PUZH ZEGE K 1. 00
ﬁBiJff,\ It PO e AN 1. 00
BiJfE B g FKF 2. 50
aKjJ 4 Bt | AP 5. 00
zﬂ?%,z Bl fudl | fHEs 2.50
%EEJ; Bl Tl | fFEE 2.50
%ﬂ:ij H gl FH AFKF 2. 60
siJiféi B HAH INEREN 5. 00
aKjJ 4 Bt Tl | AHERE 4. 00
zﬂ?:,z Bl il | 2R 3. 00
%BEJ é Bl fufl | AR 1.00
;ij Z! Uk HIH ORZ 1. 50
BiJfE It Tl | XUEE 3. 50
ﬁllth,i: agl FAH REE 5.50
z[j; Bl HA | 2= 2. 10
;Jé Bt fifl | fHEE 5. 00
%IIEEJ 1 It HH | %S 5. 00
siJfE ot HIH VREES 4. 00
ﬁﬂiJ i B Ee: | ke 1. 60
zﬂ?%,z Bl T HHAAEE 4,00
%BEJE Bl ﬂiiéﬂ £+ B H 0. 40
;iﬂa\ It N | mEE 1.00
BiJfE It N | AR 2.00
aKjJ 4 Bl N | AHRE 7.00
zﬂiﬂ%,z Bl f\éﬂ EE 4. 00
%BEJ; Bt /jéﬂ I REK 3.30
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BiJfE It N | Ahied 3. 50
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Hm 4 Bl yay::! BRI 7. 00
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gk Bl N | AHEE 4. 00
Hom) 4 Bt N | AR 8. 00
#h ) Bl N | KESE 2. 00
w4 Bl N | A EAE 3. 00
Hm) 4 Bl N | AEX 4. 50
Hom) 4 Bl N ER T S 5. 00
w4 Bt N | A EEAE 6. 00
A B A ENEPN 4. 00
A B YAyl AR AE 6. 00
w4 Bl N | fPEE 6. 50
Hom Bl vl ERES 2.00
#h ) Bl AN | MHER 7.00
HE It N | AP EE 4,00
Hm 4 Bl yay ! % E A 5. 00
A P YAyl 1% 1. 00
Hom 4 Bl N | A EE 3.00
B Bl AN | AFEiE 3.00
Hom 4 It N BES 5. 00
Hm 4 It N B 4,00
A B YAyl JE AR 3 6. 00
ik B N TR 6. 00
# ) Bl AN | AER 5. 00
Hm It N | AEX 4,00
Hm 4 It N | A 4,00
Hm 4 Bl N | BT 4. 50
ik B N Rz 3.30
Hom) 4 Bt N | HEE 5. 00
Hm It N | AR 4,50
Hm 4 It b | TS 3. 60
A B +4H 15 76 Y 4. 50
gk Bl K | RaB 3. 60
Hom) 4 Bt L4l | fHERE 5. 40
#h ) Bl i | g 1. 80
Hm 4 It 4 LB 6. 40
A B +4H B 5. 40
gk Bl L | mEKk 3. 60
#h ) Bl LA | ER 5. 60
ik I +4H [k A 8. 10
Hm 4 It 4 e 7k 5. 40
Hm) 4 Bt 4 = AE 5.70
Hom 4 Bl L4 [ A 2.70
w4 Bt K4 =55 R 4,95
Hm It L4 AR 3.10
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w4 Bt Ll | gk 7.00
ik B +4H HoE 2.70
A B +4H 1 ek 2.70
#h ) It +t4H | mER 7.40
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w4 It J\SH | B 6. 00
A B J\HH Zals 5. 00
B Bl J\H | TEHR 3. 00
w4 Bt J\4H. ZHi 5. 00
HE It J\H | %R 3. 00
A B J\AH A 3L 2.00
A B J\H Zak 5. 00
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ik I J\AH B R 6. 00
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w4 Bt J\4H. RS 6. 00
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B Bl VA | TEAERR 4.00
w4 Bt AN 2.00
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A B J\HH A AE 7.00
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Hom) 4 Bt A\ | AR 5. 60
#h ) Bl N | FE4e 7. 00
B Bl N | A4 7. 50
A B J\H P 6. 00
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A B J\H MALAE 4. 50
A I J\AH P E 2. 50
A B J\AH BaE 5. 00
ik Bt JLA Exp 2.20
gk Bl JU | Fgkee 7.35
A B JLAL BN 5.25
w4 It JLAH BRI 6. 00
ks B Juil FF 3. 30
Hm) 4 Bl Jui HERE 7.30
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A B JuAL B 5. 60
#h ) Bl JLAH i 3.25
A B L Bl 2.20
A B Jui TH 2. 30
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Hom) 4 It JUAE WEK 5. 50
B Bl U | EFIL 6. 00
ks B Juil TAIE 5.75
A B Jui TFi% 1.15
B Bl A | EHE 4.70
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ik I Juil EY4AF 5. 50
Hm 4 It JLA ELEE 5.25
A B Jui FNAE 6. 80
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gk Bl I | RS 3. 30
Hom) 4 Bt JLAE THRA 4. 80
w4 It JLAH HER 5. 80
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Hm) 4 Bl Jui HHEE 5. 50
B Bl A | EEE 5. 50
w4 Bl JLAE T 7.70
A B JUA kEFH 3. 30
A B L Egk 4. 80
A B JLAH E4k[H 7.00
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#h ) Bl JuUE | ERE 3. 30
ks B pAR:: Ekst 6.90
A P Jui BRI 6. 35
Hom 4 Bl JLAE E4k 5 5.50
# ) Bl A | EEA 4.60
Ho ) Bl JUE | FE 6. 60
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ik B +—4 | BH1 4. 40
Hm It +—dl | EEEL 7.35
ks B 4 | EEAa 6. 00
A B +—4H | LB 8. 00
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Hom) 4 Bl +—4 Tt 5. 50
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Hm 4 It +—4 | EfEE 7.35
A B +—4 | FE= 2.94
Hom) 4 Bl +—4 | TEE 6. 00
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#h ) Bl +—H | ERE 4,50
Hm 4 It +—d | EEE 10. 00
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gk Bl +—4 | B 5. 00
A B +—4 | B4 4. 40
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A B +—4 | HH%E 1. 50
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# ) Bl +—4 | EKE 6. 40
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) 4 Bt +—4 T 1.70
) B It +—4 | B 0.2
B Bl +—4 | RER 5. 00
Hm) 4 Zelr 1 L&t 2.20
R E ki 1 FLERAE 2.20
A kil 1 FLJLIE 2.20
B sils 1 FLEIE 4,00
Hm 4 Selr 1 FLERZE 4. 30
A et 1 e =t 2.70
ik ki 1 fLILSE 5. 00
#h ) sils 1 FLLIH 1.20
) B sils 1 FLNLZR 3. 00
Hm 4 Sefr 1 [=ES 3.20
) seils 1 A M 2. 20
ik ki 1 FLERHR 4.20
ik kil 1 FLJLiE 2.10
B sils 1 LS 5. 00
Al et 1 ME- 1. 10
) seils 1 IR 6. 00
ik ki 1 L&w 3.20
w4 sft 1 L HA 4,20
B il 1 FLEEIR 3. 20
Hm 4 Zelr 1 FLLHE 4,00
Hm 4 Zelr 1 LR 2.10
ik ki 1 EFHHR 4.20
ik kil 1 LR 4.20
A sft 1 E&F 4. 50
Hm 4 Zelr 1 FLILNI 4,00
A et 1 FLILEK 1. 50
Hom) 4 slt 1 LT 3.20
#h ) sils 1 FLJLIH 2. 00
#h ) il 1 AL 2. 00
Hm 4 St 1 fLEEE 0. 30
ik Zelr 1 FLERIX 4.70
Hom slt 2 LA 3.70
#h ) sils 2 KELE 4.00
#h ) il 2 gk A 0. 20
ks St 2 AT 3.00
Hm) 4 Zelr 2 KA 1.70
Hom 4 slt 2 KR 1. 00
) 4 sft 2 THE 0. 50
) B sils 2 fiS5eca 3. 50
B seils 2 THRE 3. 40
) seils 2 R Z 3. 50
B sils 2 piXeais 26. 20
#h ) sils 2 SIS 0. 90
#h ) il 2 s 2. 80
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) seils 2 [ 3=ntl 1.80
ik ki 2 MITE 1. 00
)4 sft 2 BRI 2.20
#h ) sils 2 KHE= 1.30
Al St 2 sl 4. 50
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#h ) il 2 FH 3R 2% 1.00
i E) St 2 SRR 7.00
HF) il 2 15 e 0. 50
ik ki 2 K 4. 50
A kil 2 A 0. 80
w4 il 2 AT 2.10
B sils 2 KEE 2.90
) seils 2 Ee 0. 70
Hom) 4 slt 2 I 2.00
w4 sft 2 FRIGC 1.70
HE sils 2 WS 3. 80
Hm 4 Selr 2 HEE 5. 00
) seils 2 SRS 3. 50
B sils 2 B2 Y 5. 50
#h ) sils 2 R 3. 50
HE sft 2 X2 4. 30
Hm 4 sils 2 X% 1. 40
A sft 2 MBS 5. 00
k! kil 2 fHRE 4.70
# ) sils 2 XI4R 1.00
Hom 4 sils 2 PATE 1.10
B sils 2 e 1.20
Hm 4 Zelr 2 g e 0. 80
B sils 2 ARAR 3. 00
# ) sils 2 KEA 2. 30
ik sft 2 AR 1.40
ks St 2 HEes 4. 00
A et 2 gk B R 1. 20
ik ki 2 XER 38. 00
#h ) sils 2 Biads 39. 00
#h ) il 3 RIEST 2.70
B seils 3 EIE 4,20
w4 Zelr 3 MER 0. 50
gk sils 3 e 1.00
A kil 3 AR 2.00
#h ) il 3 AL R 2.70
A St 3 FE 4. 50
) sils 3 T Mg 0. 40
Hom slt 3 R EH 1.70
A kil 3 ElfieN 7.20
#h ) il 3 FREYE 0. 40
Hm 4 Sefr 3 FHZ 1.20
Hm) 4 Zelr 3 Ela 6.10
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A kil 3 R E 2.00
#h ) sils 3 R2RE 2. 10
B seils 3 2EEER 1.00
) seils 3 25— 2. 10
Hom slt 3 ;M 5. 00
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# ) sils 3 EIESE 2. 00
#h ) sils 4 ARG 0. 50
Al sft 4 HRAZ 1. 00
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) B il 4 BE 3. 00
B sils 4 Zirh 2 1.60
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Hom) 4 slt 4 X2 3. 00
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B sils 5 FRIE 1.00
B sils 5 FOE 1.00
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Hom 4 slt 5 ERE 1. 00
)4 sils 5 =R 1.80
ik sft 5 FHE 2.00
Hm 4 Zelr 5 2K E 1. 60
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gk sils 5 255K % 2. 00
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) B il 5 REZ 1.80
B Zelr 5 B 2. 00
A et 5 FRE X 2. 80
R E) ki 5 ZEAEE 1. 80
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Hm 4 seils 5 2k 1. 00
) sils 5 FRIE 3. 60
Hom slt 5 FK 1. 60
Hom) 4 sft 5 F R 0. 80
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Hm 4 Sefr 6 F R % 3. 60
A et 6 FERE 1.70
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) 4 sils 6 22K 4.60
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A St 6 FEEH 1.70
w4 Zelr 6 FRE 1. 00
ik ki 6 FLE 0.90
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)4 sft 6 FZ 2. 40
B il 6 255k M 2.70
B seils 6 FRER 4,20
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gk sils 6 FEEX 3. 60
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A et 6 FHIE 5 2.70
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#h ) sils 6 FER 2.70
) B il 6 B 3. 50
A St 7 FFIH 4. 20
) sils 7 FE X 1. 40
ik ki 7 NE= 0.70
) 4 sft 7 FRE 3.50
) B il 7 e 4,20
Hm 4 sils 7 2Rk K 1. 00
A et 7 FHEE 3. 60
Hom 4 slt 7 FEEH 4,90
A kil 7 e 0.70
) B sils 7 F ] 1.70
B sils 7 Eiea 2. 00
) seils 7 FREE 1.00
Hom slt 7 F R 2.80
4 sft 7 FHZE 2.00
) B il 7 2K R 3. 50
B sils 7 FERERE 1. 00
Hom 4 Zelr 7 FHIEH 3. 60
B sils 7 FrRIE 2. 80
)4 sft 7 X 1. 00
B sils 7 O 1.00
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A St 7 MEE 2.00
A et 7 Pz 1. 00
gk sils 7 EE 1.40
Hom) 4 sft 7 K 5 2.80
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ik St 7 FFIF 2. 80
) ettt 7 =R AL 1.50
Hom) 4 slt 7 FrERR 1.50
w4 sft 7 F A 1. 00
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Hom) 4 sft 7 FHEH 3.50
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#h ) il 7 FZ 1.20
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Hm 4 Zelr 7 R 1.80
gk sils 7 FHIESE 2. 50
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A et 7 5 E 7k 20. 00
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Hm il 8 FLILE 3. 20
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A et 8 FLILHE 5. 80
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A kil 8 fLEE 4.70
#h ) il 8 =S 1.00
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Hm) 4 Zelr 8 FLILE 1.00
Hom 4 slt 8 AR 4. 80
# ) sils 8 FULE 6. 00
Hm sils 8 SRERAE 6. 20
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A kil 8 LR 4. 00
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A kil 8 T 3.90
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A et 8 FLIL 2. 80
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w4 Zelr 8 FLEEED 0. 20
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